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Question Number : 1 Question Id : 5038908727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

J2M, R5X, G4L, ?
Options :
1. ¥ G5M
2. % FoU
3. ®# B5S
4. % CTF

Question Number : 1 Question Id : 5038908727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

fqu TTu faswedl © ¥, 907 & qwd U &) 1 B

I2M, R5X, G4L, ?
Options :
1. ¥ G5M
2. & FoU
3. % B35S
4. % C7F

Question Number : 2 Question Id : 5038908728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

DEC, HIG, LMK, PQO, TUS, ?
Options :

1. % XYZ

2. ¥ WXY

3. ¥ XYW

4. % YZA

Question Number : 2 Question Id : 5038908728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T faeheul § 9, Uit H ud U< B 1 PR |

DEC, HIG, LMK, PQO, TUS, ?
Options :

1. % XYZ

2. % WXY

3. ¥ XYW
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4. % YZA

Question Number : 3 Question Id : 5038908729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the odd one out from the given alternatives.
Options :

1. ® Square

2. ® Rectangle

3. ® Circle

4. ¥ Acre

Question Number : 3 Question Id : 5038908729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T fasbedl # @ fawe J1d |
Options :

1. % &

2. % 3{Igd

3. % 9d

4, ¥V Tbhg

Question Number : 4 Question Id : 5038908730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word from the given alternatives.

Bees : Swarm : :
Options :

1. ¥ Teacher : Faculty
2. ® Turtles : Water
3. # Lion: cub


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

4. % Tribe : Army

Question Number : 4 Question Id : 5038908730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 8, idw U fawedl & § Tf=d eg ! gHT|
qm:_ﬂg::

Options :

1. ¢ e : hee!
2. % HgU: UMl

3. % TR : RRER
4. % SIS : ST

Question Number : 5 Question Id : 5038908731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter cluster from the given alternatives.

AKD : CIB::?: HCU
Options :
1. % JAY
2. % JEW
3. ¥ FEW
4. ® JEY

Question Number : 5 Question Id : 5038908731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAefefed A 1, fau U faswedl O I Tdfdd siaR Iag &1 94 H |

AKD :CIB: ?: HCU
Options :
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1. ¥ JAY
2_# JEW

3. ¥ FEW
4. % JEY

Question Number : 6 Question Id : 5038908732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code 'LIVER' is coded as '36902' and 'HEART' is coded as '40825'. In the same code how will ' HAIR' be coded as?
Options :

1. % 2057

2. ¥ 4862

3. ® 8246

4. ® 8247

Question Number : 6 Question Id : 5038908732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS A3 He U & 'LIVER' &1 '36902' 3R 'HEART ' &1 '40825' & &0 H foraT Sffdl § | ¥HM Fe UV H 'HAIR' $T B forar S
Options :

1. % 2057

2. ¥ 4862

3. % 8246

4. % 8247

Question Number : 7 Question Id : 5038908733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of 35 children, Amir’s rank is sixth from the top. Annie is seven ranks below Amir. What is Annie’s rank from the bottom?
Options :

1. % 22

2. %20
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3. % 19
4723

Question Number : 7 Question Id : 5038908733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

35 Il DI Th Bl o, MY I MR BIIF 671 § 1 TH D13, MR A 7R 31 TN IS T G R 5?
Options :

1. % 22

2. % 20

3. % 19

4. v 23

Question Number : 8 Question Id : 5038908734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P is richer than Q, R is richer than P, S is richer than R and E is the richest of all. If they are made to sit in the above degree of richness who will
be in the middle position?

Options :
1. %S
2.%p
3.8 Q
4. ¥ R

Question Number : 8 Question Id : 5038908734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QI P 3HRE, PIUR R E, RIS 3R § 3R E qad 3R g1 IS I8 3t & Sudad % T fyama Se o /e § i g
Options :

1. %S

2.% P

3.%Q
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4. ¥R

Question Number : 9 Question Id : 5038908735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
Some houses are not apartments.
Some apartments are not homes.

Options :

1. ® Some houses are not homes
2. % Some homes are houses

3. # All houses are homes

4. ¥ Some homes are not apartments

Question Number : 9 Question Id : 5038908735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR fRumuuy 8, @ Y9 & 91¢ fawel & TR Fspy fAu MU €1 3! fou MU Sy o) I 79T 8, Hal &1 3 Idad gt 9 et ucfia
gd g1 gt el @l ufeu bR aa wifort o fou e fsest & § &9 I dHTd $U F SIIER0 Sl &, 918 Jawd 98 3 i 8|

hY:

$S W, UICHE TRl 5

$3 UreHe, AhH el ol
Options :

1. % $B W, HHH T &

2. % BT THM, TR 3

3. % 9t IR, qbT §

4. ¥ O TP, AUTEHE el &



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Question Number : 10 Question Id : 5088908736 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by two conclusions. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
Some shirts are socks.
No sock is red.

Conclusion:
I. Some socks are shirts.
II. No shirt is red.

Options :

1. ¢ If only conclusion I follows

2. % If only conclusion II follows

3. # If either conclusion I or II follows

4. ® If neither conclusion I nor II follows

Question Number : 10 Question Id : 5038908736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= fou T U= # S YT 3R IS 91 o) ey fu U g1 U AT U B Y I HEAT R WA 81 3 Fagd a ¥ fi= Ut gl
gl Tt e &1 ufeu iR au SifoTe fob fau T fensl & ¥ S A1 dohaiTd U ¥ SII¥RUI $HRd1 6, I8 Jadd 9 $3 Ui g1

, [
?‘%nﬁ,mﬁ%

fsep;

. $S A, T B

II. DI3 T, A1 81 g

Options :

1. ¢ TS Had fshY | 3ERU a1 8
2. % TfE Had BT 11 SITRUI Rl §
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3. % e a1 dl fpy 1 9T 11 3RV Bl &
L 4 = g fase 1 R @y SR IR 8

Question Number : 11 Question Id : 5038908737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statement:
P>Q=R<S<T<U

Conclusions:
I.P>R
I.Q<U

Options :

1. ¥ If only conclusion I follows

2. % If only conclusion II follows

3. # If either conclusion I or conclusion II follows

4. ® [If neither conclusion I nor conclusion II follows

Question Number : 11 Question Id : 5038908737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Uy A, Yy A fAfis 3/audl & ol GaY ol a1 T 8 1 HU & 916 &l fnhy fau 1w g1 feT U 99 & 3nyR R sl &
I B 3R I I B! gFT|

DHY:
P>Q=R<S<T<U

frpy-
I.P>R
I.Q<U

Options :
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1. ¢ ¢ had st [ 3IERU T g
L0 % 73 o ey {1 SR B8

3: % gfe a1 dr fepd 1 a1 e 11 SFERUT FHraT §
4. % g T a1 e 1 3R 7 € Fsh 11 SR el §

Question Number : 12 Question Id : 5038908738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related number from the given alternatives.

12:39::6:21::15:7
Options :

1. ¥ 48

2. % 52

3. % 39

4. ® 51

Question Number : 12 Question Id : 5038908738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{2 7T faepedl # A HafRid = 1 gHu|
12:39::6:21::15:7?

Options :

1. ¥ 48

2. % 52

3. % 39

4. % 51

Question Number : 13 Question Id : 5038908739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Find the missing number in the series given below.

2,5,8, 11, 14,7
Options :
1.v 17

2. % 16

3. % 18

4. % 15

Question Number : 13 Question Id : 5038908739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<t mft 9oft & e = F1a S|

2,5,8,11, 14,2
Options :
1.¥ 17

2. % 16

3. % 18

4. % 15

Question Number : 14 Question Id : 5038908740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates the best relationship among.

“Food, Curd, Spoons"
Options :

O
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Question Number : 14 Question Id : 5038908740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife; YA I il 4T T TG/ faaR] &1 a=Id &, 1 98 SR SHTHid I X Sl 19 H o d5aR T D G|

"I, Ggl, TR
Options :

O

.
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Question Number : 15 Question Id : 5038908741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following figure, Rhombus represents Coronavirus, Triangle represents malaria and circle represents Tuberculosis. Which set of letters

represents Coronavirus that is Malaria only?



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

Options :
1. % a e
2.¥b

3.% ¢, d
4. % b, g

Question Number : 15 Question Id : 5038908741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[BPINITER] i) PHRIFIGTRY DI SidT 8, FYS AR &) Siar § 3R It &% I D1 STal g | 31eR} BT b Il
ﬁﬁ?ﬁamw&”%ﬁm%:;gﬁﬁ%%ﬂﬁﬁm%? & ¥ e

C

NS

Options :
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1. % a,e
2 % h

3. % ¢, d
4. % b, g

Question Number : 16 Question Id : 5038908742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P is 40 m South-West of Q. If R is 40 m South-East of Q, then R is in which direction of P?
Options :

1. ¥ East

2. % West

3. #® North-East

4. ® South

Question Number : 16 Question Id : 5038908742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q & 40 WX RULUBH A g1 afg R, Q F 40 MR feuryd A §, TR, P & fhu famm & g2
Options :

1.¥Yd

2. % Ufgw

3. % IW-Yd

4. % gfgor

Question Number : 17 Question Id : 5038908743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the figure that is different from rest.
Options :
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Question Number : 17 Question Id : 5038908743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I 3P A BT T DX Sl [AY H 3T 6l

Options :

o
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3. ¢

WY

JiC
11
el

Question Number : 18 Question Id : 5038908744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the figure you can see the picture of a group of blocks arranged in a particular way. All the block are of same size. You can see only some of
the blocks in the group other are hidden by the blocks in front of them. Count the total number of blocks in the figure including those that you
cannot see (the ones hidden).

Options :
1. % 6
2.¥38
3. % 7
4. % 9
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: 75038908744 Question Type : MCQ Option Shuffling : Yes I
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 70 fomr o fafire o o) Uop ARIW UepR & 3@ 71T B, Wt O BT 3R Ueh sRIER §, 31U 1 ITH J 3 4 T8 371 weifr 3= {5y
T | Tt T 1 e T R 9ai [ Ol Bl g & ol oW el %6 IR U § |

Options :
1. %6
2.¥°8
3. % 7
4. %9

Question Number : 19 Question Id : 5038908745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Question figure:

Options :
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Question Number : 19 Question Id : 5038908745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

DIF-IT IR P, T 3B & ey Bl T B2
TR IMFHA:

Options :
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Question Number : 20 Question Id : 5038908746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How many quadrilaterals are there in the given figure?

Options :
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Question Number : 20 Question Id : 5038908746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

7T Srpfar H faper Ag €2

Options :
1.¥2
2. %3
3. % 4
4. %5

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :

General Awareness
2
503890214
0
0
No
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Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 503890341
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890406
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5038908747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following designed the India Gate?
Options :

1. ¥ Edwin Lutyens

2. % Robert Fellowes Chisholm

3. # William Emerson

4. ® George Wittet

Question Number : 21 Question Id : 5038908747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fofefaa & 3 feam 3fear fie &1 feomsT dar fear e

Options :

1. ¢ TSfaq gfcay

2. % J[aC Ay e
3. % fofergw sy

4. % SISl face

Question Number : 22 Question Id : 5038908748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hariprasad Chaurasia is renowned player of
Options :

1. ¥ Flute

2. % Sitar

3. % Sarod

4. # Tabla

Question Number : 22 Question Id : 5038908748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRESICGINED) & AIBT D &
Options :

1. ¢ IR

2. % AR

3. % WG

4, % qddl

Question Number : 23 Question Id : 5038908749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following dances has originated from the state of Kerala?
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Options :
1. % Kathak

2. ¥ Kathakali
3. ® Kuchipudi
4. % QOdissi

Question Number : 23 Question Id : 5038908749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafefed o 9 ford -1 1 Sty el AU W g3 &7
Options :

1. ® DD

2. ¢ HYBal

3. % gst

4. % Infedt

Question Number : 24 Question Id : 5038908750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following was the first bank in India?
Options :

1. # State Bank of India

2. ® Imperial bank of India

3. % Reserve Bank of India

4. ¥ Bank of Hindustan

Question Number : 24 Question Id : 5038908750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffed & 3 S YR T Ugdl 9o U2

Options :
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1. % YRAY W db
e o i <

3. % wRed Red 3
4. ¢ b 31 e

Question Number : 25 Question Id : 5038908751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is known as the father of the White Revolution in India?
Options :

1. ¥ Verghese Kurien

2. ¥ MS Swaminathan

3. % RS Sodhi

4. % Sam Pitroda

Question Number : 25 Question Id : 5038908751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 f5a YRd H 49 ifd & S & =T H ST SIldT 82
Options :

1. ¢ IS A

2. % THTY WA

3. % RUY Hig!

4. % 9 fUeAier

Question Number : 26 Question Id : 5038908752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements is used for making Electric Bulb Filament?
Options :

1. # Copper
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2. % Aluminium
3 # Jead

4. ¥ Tungsten

Question Number : 26 Question Id : 5038908752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Zafacd ded hamie g9 & fod fafiad & 9 e da &1 I foar S g2
Options :

1. % diqr

2. % 3fcgHITY

3. % dig

4. ¢ ARA

Question Number : 27 Question Id : 5038908753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following chemical compound is also known as Washing Soda?
Options :

1. ¥ Sodium Carbonate

2. #® Calcium Carbonate

3. # Calcium Bicarbonate

4. % Sodium Bicarbonate

Question Number : 27 Question Id : 5038908753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofried & @ e e Aifie &) a1k dre1 & A § o ST ST 82
Options :

1. ¢ HIfSTH Brei-e

2. % Bk FHIaHC
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3. % HicRgH IEHEHC
L s e OfomIReEEe

Question Number : 28 Question Id : 5038908754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rocks is formed through molten magma?
Options :

1. ® Metamorphic Rocks

2. % Sedimentary Rocks

3. ¥ Igneous Rocks

4. ® Mineral Rocks

Question Number : 28 Question Id : 5038908754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed 7§ &F @ g frod gu dw  sdi 22
Options :

1. % BTN IS (Metamorphic Rocks)

2. % 3{q9rd] z@'ﬁ (Sedimentary Rocks)

3. M ﬂ?lef (Igneous Rocks)

4. % @ﬁ\_ﬁ@ﬁ (Mineral Rocks)

Question Number : 29 Question Id : 5038908755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the innermost layer of the Earth?
Options :

1. ¥ Core

2. % Mantle

3. % Crust
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4. ® Lithosphere

Question Number : 29 Question Id : 5038908755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g2t &t gy Mol IRd &1 1 A 82
Options :

1. ¥ BR

2. % Hed

3. % g

4. % ¥qHsd

Question Number : 30 Question Id : 5038908756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chandragupta I had received Pataliputra in dowry from whom?
Options :

1. % Licchavi

2. % Harsh Vardhan

3. # Pulakesin

4. ® Kushanas

Question Number : 30 Question Id : 5038908756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI U Dl UTeelgs Gosl § foha™ UTtd g1 U2

Options :

1. ¢ feresfa
2. % gYadd
3. % QPR
4, % DY
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Question Number : 31 Question Id : S0B8908757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rulers had the title of "Maharajadhiraja"?
Options :

1. ¥ Harsh Vardhan

2. # Srigupta

3. % Asoka

4. ¥ Chandragupta I

Question Number : 31 Question Id : 5038908757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeRad & & fobd e DI "HERTSITERTS" B JUTY e 2
Options :

1. % gaed

2. % g

3. % 3RD

4. ST 9AH

Question Number : 32 Question Id : 5038908758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what year was the office of Governor General created?
Options :

1. % 1857

2.¥ 1773

3. % 1839

4. % 1793

Question Number : 32 Question Id : 5038908758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

IR S Rd &1 Hraferd foeg a8 # S T U1
Options :
1. % 1857
2. ¥ 1773
3. % 1839
4. % 1793

Question Number : 33 Question Id : 5038908759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What article of the Indian Constitution provides for the Fundamental Duties?
Options :

1. # 61

2. ¥ 51A

3. % 36

4. % 52

Question Number : 33 Question Id : 5038908759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU &7 DI AT Swse Al Dol BT IaHT Hdl g7
Options :

1. % 61

2. ¥ 51A

3. % 36

4. % 52

Question Number : 34 Question Id : 5038908760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which of the following articles provides for the Supreme Court of India?
Options :

1. % 123
2. % 116
3. % 143
4. 124

Question Number : 34 Question Id : 5038908760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed & 9 & 91 srfwe HRd & aie e & g Wiaem &Rl 82
Options :

1. % 123

2. % 116

3. % 143

4. ¥ 124

Question Number : 35 Question Id : 5038908761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following individuals received the Gandhi Peace Prize 2020?
Options :

1. ¥ Sheikh Mujibur Rahman

2. % Qaboos Bin Said Al Said

3. % Yohei Sasakawa

4. # Ekal Abhiyan Trust

Question Number : 35 Question Id : 5038908761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRaa o 9 foog safad &1 e wifd PR 2020 U g3

Options :
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1. ¢ TG GoilgR gqH

3. % Og! ArTehTal
4. % Thd HUYM X

Question Number : 36 Question Id : 5038908762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following individuals received the Dadasaheb Phalke Award at 67th National Film Awards?
Options :

1. ¥ Amitabh Bachchan

2. % Kailash Kher

3. ¥ Rajnikanth

4. # Vinod Khanna

Question Number : 36 Question Id : 5038908762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfeRad & 9 fob sufekd 1 67d TP fthed GREBRI H GTaT G s e YIBR el
Options :

1. % JHfFATH S

2. % HARIW

3. ¢ TSHIBId

4. % fodIe @=

Question Number : 37 Question Id : 5038908763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Maitri Setu connecting Tripura with Bangladesh is built on which river?
Options :

1. ¥ Gomati
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2. % Khowai
3% Manuy

4. ¥ Feni

Question Number : 37 Question Id : 5038908763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRT & ST I SeH aren 93 ¥ fpg A e 82
Options :

1. % TEd

2. % Gralg

3. % 0]

4. Bl

Question Number : 38 Question Id : 5038908764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has been appointed as the new Chief Minister of Uttarakhand?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1ignored for all candidates.
Options :

1. Trivendra Singh Rawat

2. Tirath Singh Rawat

3. OP Rawat

4. MN Rawat

Question Number : 38 Question Id : 5038908764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS & ¢ G&IHHT & ®u H ford fged fovan mar g2
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Note: For this question, discrepancy i1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Bdg g rad

2. IRy g Wrad

3. {141 Rrard

4, THUA. [dd

Question Number : 39 Question Id : 5038908765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first Indian woman cricketer to score 10,000 runs combined across all formats of the game?
Options :

1. ® Harmanpreet Kaur

2. % Smriti Mandhana

3. ¥ Mithali Raj

4. % Jhulan Goswami

Question Number : 39 Question Id : 5038908765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & Goft uReTl § Wgad U 10,000 I F dTelt gl HRA Afga fhder o1 82
Options :

1. % G HR

2. % Wi HYMr

3. ¢ et I

4. % A TRaTH!

Question Number : 40 Question Id : 5038908766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Who is the first cricketer to score 3000 T20 Interntional Runs?

Options :

1. ®¥ M.S. Dhoni
2. ¥ Suzie Bates
3. # Chris Gayle
4. ® Rohit Sharma

Question Number : 40 Question Id : 5038908766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3000 €120 SIARRTYIT XA FH ATe/aTel UuH fopdhex D1 82

Options :
1. % THTY. 4
2. ¢ ol 9cH
3. % fpg T
4. % fga Tl
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Question Number : 41 Question Id : 5038908767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

What will come in the place of question mark (?) in the given expression?

{{159 % 96)
144

}+32 =7
Options :

1. %9

2.9 12

3. % 14

4. % 16

Question Number : 41 Question Id : 5038908767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fou U o © Uy g (2) & RIF TR T ST
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{{168 % 96)

144

}+32 =7

Options :
1. %9
2.¥ 12
3. % 14
4. % 16

Question Number : 42 Question Id : 5038908768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

(0.1)*-0.01"%=(0.1)"

Options :
1.¥ 38
2. % .30
3. % .32
4. % 36

Question Number : 42 Question Id : 5038908768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
19 Uy T 9y g (2) & I W &1 HH ST

(0.1)%= 0.01°°=(0.1)’

Options :
1. ¥ 38
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2. % .30

3 % .32

4. % 36

Question Number : 43 Question Id : 5038908769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the remainder if x* -2x* +3x2 -5x +2 is divided by x-3?

Options :
1. % 43
2. % 40
3.9 41
4. % 24

Question Number : 43 Question Id : 5038908769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g x*-2x3 +3x2-5x +2 I x-3 W fasnfara o S, ar 99 &7 9red gl

Options :
1. % 43
2. % 40
3.9 41
4. % 24

Question Number : 44 Question Id : 5038908770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio of two numbers is 11 : 17 and their H.C.F is 2. Their L.C.M is:
Options :
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1. % 128
2 % 132

3. % 368
4.9 374

GET IT ON

Google Play

Question Number : 44 Question Id : 5038908770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l TSN T UM 11 : 17 § 3R %] HgH THIYTd 2 § | 376 agdH THIdd §:
Options :

1. % 128

2. %132

3. % 368

4. v 374

Question Number : 45 Question Id : 5038908771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the largest fraction of the following fractions?
Options :
231

5 349

352
5 % 478

453
3 % 584
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759

2894

3

Question Number : 45 Question Id : 5038908771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad el & @ Ted ISt 3 J1d Bifore?
Options :

231

| ® 349

352
x 478

453
3 % 584

759

894
4.9

Question Number : 46 Question Id : 5038908772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average temperature for the first three days of the week is 22 Degree Celsius and that of the next three days is 24 Degree Celsius. The
average temperature for the whole week is 23.5 Degree Celsius,then the temperature on the last day of the week would be?

Options :

1. #® 27.2 Degree Celsius
2. % 24.6 Degree Celsius
3. # 25.2 Degree Celsius
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4. ¥ 26.5 Degree Celsius

Question Number : 46 Question Id : 5038908772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS A8 & Ued A1 faml o1 3id araa 22 f3uft Afcqaw § ok 33 e & srma i = o1 oirgd ara 24 {3 AR 81
T o1 3 d argdH 23.5 & Afcaoa 3, O Iwdre & sifaw fom &1 araam o g

Options :

1. % 272 f&h afcmw
2. % 24.6 TS S’y
3. % 252 {50 Afcay
4. ¥ 26.5 TS Ao

Question Number : 47 Question Id : 5038908773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a city, 65 percent of population read news paper A, 45 percent of population read news paper Q, 30 percent of population do not read any news
paper. Find the percentage of population who read both news papers.

Options :

1. # 20 percent
2. ¥ 40 percent
3. % 25 percent
4. ® 30 percent

Question Number : 47 Question Id : 5038908773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS WER H, 65 YT SATEIE! THRIR U A UGl &, 45 Tia=rd eTd THER 3 Q Ugd 8, 30 UTaRId Sae! &is Ht JHmR uf 78 ugd!
& | SRS &1 9 UTa=Id JTd 1o, Sl gl GHRERUS] &) Ugd g |

Options :

1. % 20 gfa=rd

2. ¢ 40 Ui
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3. % 25 gfa=d
4. ﬂ 30 ZITNT N1

Question Number : 48 Question Id : 5038908774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

450 sweets were distributed equally among children in such a way that the number of sweets received by each child is 12.5 percent of the total
number of children.Find the total number of children?

Options :
1. % 90
2. ¥ 60
3. % 45
4. % 30

Question Number : 48 Question Id : 5038908774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

450 TraTSal godi & o1 39 d¥e THM =4 3 [qdid &1 78 fob T 9= P! e arelt a3l & We $d S & Gl &l 12.5 Uia=id
2| S B WS J1d DIfoTE?

Options :

1. % 90

2. ¥ 60

3. % 45

4. % 30

Question Number : 49 Question Id : 5038908775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling 45 sweets for Rs 40 man losses 20 percent. How much should he sell for Rs 24 to gain 20 percent?
Options :

1. #® 16 sweets

2. ¥ 18 sweets
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3. ® 20 sweets
4_#% 22 gweets

Question Number : 49 Question Id : 5038908775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ggﬁ@%%ﬁﬁéaﬁmwmﬁrﬁzomﬁaﬁﬁ%2ouﬁmawu&ﬁawﬁ$msﬁz4mﬁ%=ﬁﬁa€méﬁ
)

Options :

1. % 1618

2. ¢ 18 fioT8

3. % 20 03T

4. % 22 o8

Question Number : 50 Question Id : 5038908776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The respective ratio of the present ages of father to son is 7 : 3. If five years ago, the ratio of their respective age was 5 : 2, then what will be the
son’s age five years from now?

Options :

1. % 40 years
2. % 45 years
3. ¥ 50 years
4. ® 55 years

Question Number : 50 Question Id : 5038908776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fOrdT SiR G &1 oA 311y 1 Ta I 3UTd 7 : 3 8, 3T Uia Y U5, 3! 3H1g BT Tafd SIUTd 5 - 2 4Tl IaAH 4 Urd af §1e G Y

31y faramt gl
Options :

1. % 409y
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2. % 459
3 v :Qﬁ'ﬁf

4. % 5599

Question Number : 51 Question Id : 5038908777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two alloys contain steel and aluminum in the ratio of 11: 4 and 2 : 13 respectively. In what ratio these alloys must be mixed in order to get steel
and aluminum in the ratio of 9 : 11?

Options :

1. % 14:17
2.¥19:17
3. % 23:21
4. % 26:23

Question Number : 51 Question Id : 5038908777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TR B HERT: 112 4 3R 2: 13 & 3IUTd H Wi 3R Teii=ad € | 37 fisg &t for srura & fifsia fasan S anfe fores o i
3R TegHifoH &7 3UTd 9: 11 81 STE?

Options :

1. % 14:17

2.919:17

3. % 23:21

4. % 26:23

Question Number : 52 Question Id : 5038908778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raman borrows a sum of Rs. 3000 at 25 percent p.a. simple interest, and then lends it to Raghav at 40 percent p.a. compound interest,
compounded half yearly. What will be gain/loss of Raman after one year?

Options :
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1. ¥ Rs.470
2 % Rg 570

3. ¥ Rs.530
4. % Rs.420

Question Number : 52 Question Id : 5038908778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T 3000 T, 25% FfTTS TR ST Bt & I IYR AT § 31R R T8d BT 40% Ufaae Ul a8 & Iehgfeg SO IR IYUR <l g o fb
JHTE! 2T 81 U I 91T 39 BT ATH/ETN J1d B2

Options :

1. % 470 39Y

2. 570 %04

3. % 530909

4. % 420399

Question Number : 53 Question Id : 5038908779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person walks with speed 2 km/hr and reaches his destination in 3 hrs. If he drove his car, he would have reached his destination in 10 minutes.
With what speed (in km/hr) did he drive his car?

Options :
1. % 30
2. % 16
3.%6
4. v 36

Question Number : 53 Question Id : 5038908779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh TR 2 fhaiiHe/eier &t T1fd | =rerdl & SR 3 Tided ®IF W 3 ¢ H Ugd Ofidl ¢ | G I8 30U BR FediehR STell dl Tieiod R IR
10 fie @ uga Sirdn1 a8 foed 7ifa (Faretidier/eien) T St dR I & T
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Options :
1. % 30

2. % 16
3.%6
4. ¥ 36

Question Number : 54 Question Id : 5038908780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train leaves Patna at 5 a.m and reaches Varanasi at 9 a.m. Another train leaves Varanasi at 6.30 a.m. and reaches Patna at 10 a.m. At what time
do the two trains meet?

Options :

1. ¥ 740 am
2. % 740 p.m.
3. % 830 a.m.
4. % 830 p.m.

Question Number : 54 Question Id : 5038908780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¢ Yale 5 & Ue1 d v g 3R Yale 9 §of aRIURM ugedt 8| ga¥l o Jdia 6.30 Sof aR1URH ¥ Feberdl! & 3R gafg 10 s Ue
Ugdd g | faram a9 Gl ¢ 3o firaetty

Options :

1. ¢ 7.40 [di&

2. % 7.40 AWM

3. % 830 Jdig

4, % 8.30 UM

Question Number : 55 Question Id : 5038908781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A is two times more efficient than B who is 80 percent efficient to C. If B and C together can complete a work in 30 days, find the time taken by
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A alone.

Options :

1. # 45 days
2. ¥ 225 days
3. % 24 days
4. % 48 days

Question Number : 55 Question Id : 5038908781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 31 JAT B GNT SHfUH G&f g ot ¢ ¥ 80 UTI=Td <&f 51 afd B 3R € TP 1Y HTH BI 30 a1 & TR HR Wbl 6, Al 3bal A GRT fern
1 HY 1 PR

Options :

1. % 4537

2. ¢ 225184

3. % 24f3A

4. % 48feq

Question Number : 56 Question Id : 5038908782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A person took 3 minutes to cross a square park diagonally walking at the rate of 4 km/hr. Find the area of park ?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1.2 x104 m
2.25%x104m
3.4 %104 m
4.2 %103 m
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Question Number : 56 Question Id : 5088908782 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS HAfad 4 fpil/eier 3t a1d ¥ Te aifa Ul & fadhuia: Iadh 34 3 e § UR ol g | UTeh BT &0 d JTd B2
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.2 x 104 Hlex

2.2.5x 104 Hlex

3.4 x 104 HIeR

4.2 x103 Hiex

Question Number : 57 Question Id : 5038908783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The perimeter of a right triangle is 60 cm and its hypotenuse is 26 cm.Find the area of the triangle?
Options :

1. % 60sqcm

2. % 120 sq cm

3. % 240 sq cm

4. ® 360 sq cm

Question Number : 57 Question Id : 5038908783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JHHI YW o1 aRATT 60 T § 3R 39T 01 26 T B 1 Y BT &A% 1 B2
Options :

1. % 60 i T

2. 120 1 Tt

3. % 240 9 et
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4. % 360 71 I

Question Number : 58 Question Id : 5038908784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table given below shows the number of chocolates distributed by 5 different students of the same class on their birthday in the class. It also
shows the price per chocolate for each student.

Students Number of chocolates distributed | Price per chocolate (in Rs.)
Aman 78 12.5
Bipin 54 25
Chand 82 15
Dev 120 g
Emma 36 40

Find the ratio of the total amount spent by Emma to that of the same by Dev.
Options :

1. % 5:4
2. % 4:3
3.¥3:2
4. % 3:1

Question Number : 58 Question Id : 5038908784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?%Trﬁé‘@lgrwﬁ$&n$5 3T B gRT ST IR faaRd Tlerae & T ol ST T § | I8 U BT & ot Ufd didalc & Hid
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GaEd famia Eieee S &g v FiFeae qad (% #)
A 78 12.5

IGIRG] 54 25

Tl 82 15

LGl 120

T 36 40

THT 3R 3d gRT T Bt Tl o A BT ST F1d B2
Options :
1. % 5:4
2.% 4:3
3.43:2
4. % 3:1]

Question Number : 59 Question Id : 5038908785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table given below shows the number of chocolates distributed by 5 different students of the same class on their birthday in the class. It also
shows the price per chocolate for each student.

Students Number of chocolates distributed | Price per chocolate (in Rs.)
Aman 78 12.35
Bipin 4 25
Chand 82 15
Dev 120 8
Emma 36 40

Find the total amount spent by Aman.
Options :

1. ¥ Rs. 975

2. % Rs. 1020

3. % Rs. 845
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4. % Rs. 1005

GET IT ON

Google Play

Question Number : 59 Question Id : 5038908785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& i 29 U B HaT P 5 3 B gRT A R IR didhaie ot TBAT I <A1 71 8 | T8 YA BT & ol Ul lcbaie Pl didd

1 e &-
o Taafa gisee Fraga wie FiFee {od (€ #)
A 78 12.5
ICIEG] 54 25
Tl 82 15
od 120 8
T 36 40

A GRT Y ol AT 1 HR?

Options :

1. ¥ 975 ® 0

2. % 1020 T0Y

3. % 845 F0Y

4. % 1005 =04

Question Number : 60 Question Id : 5038908786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Following graph shows Incomes and Expenditures of 4 different companies (In Rs. Cr.).

Percentage profit = ((Income - Expenditure)/Expenditure) x 100 percent
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Income and Expen e (InRs. Crores)
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110
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A B C D

® Expenditure (in Rs. Crores)  ®Income (in Rs. Crores)

What is the difference between total incomes of all 4 companies together and total expenditure of all 4 companies together?
Options :

1. ® Rs.30 Cr.

2. % Rs.25Cr.

3. % Rs.20 Cr.

4. ® Rs.16 Cr.

Question Number : 60 Question Id : 5038908786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafeiad sma & 4 e Hufal (@Ris $ud #) o1 31 3R Y &I ST T g |
TIIRId oY = (3T - S0)/Td) x 100 Ufa=Id
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Options :

1. % 30 HS v
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Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 503890343

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890408

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5038908787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

1. ® They are yet struggling utilize the few available suits for our frontline healthcare workers.

2. ¥ The manner in which the government responded has shown a worrying lack of confidence.

3. # It has been more than two weeks for Kenyans made passionate pleas to the police to stop using tools and equipments.

4. ® The WHO should take notice of this positive progress and to revise our compliance status.

Question Number : 61 Question Id : 5038908787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.
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Options :

1. * Thev are vet strugeling utilize the fdw available suits for our frontline healthcare workers.

2. ¥ The manner in which the government responded has shown a worrying lack of confidence.
3. # It has been more than two weeks for Kenyans made passionate pleas to the police to stop using tools and equipments.

4. ® The WHO should take notice of this positive progress and to revise our compliance status.

Question Number : 62 Question Id : 5038908788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Vishnu was trying to pass through the gap on the fence when he tore his shirt.
Options :

1. #® Vishnu was trying to pass

2. ¥ through the gap on

3. % the fence when he

4. # tore his shirt

Question Number : 62 Question Id : 5038908788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Vishnu was trying to pass through the gap on the fence when he tore his shirt.
Options :

1. # Vishnu was trying to pass

2. ¥ through the gap on

3. % the fence when he

4. # tore his shirt

Question Number : 63 Question Id : 5038908789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Select the most appropriate option to subgtitute the underlined segment in the given sentence. If there |s no need to substitute it, select No
substitution required.

The decision to introduce the system was brought with an aim to improve the financial conditions of municipalities and the nagar panchayats.
Options :

1. # brought, financially

2. ® were brought, finance

3. # was brought, finance

4. ¥ No substitution required

Question Number : 63 Question Id : 5038908789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

The decision to introduce the system was brought with an aim to improve the financial conditions of municipalities and the nagar panchayats.
Options :

1. # brought, financially

2. % were brought, finance

3. # was brought, finance

4. ¥ No substitution required

Question Number : 64 Question Id : 5038908790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence.

I have never seen you in the meeting yesterday.
Options :

1. ¥ did not see

2. % am not seeing

3. % have not seen

4. % never see
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75638908790 Question Type : MCQ Option Shuffling : Yes Is

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence.

I have never seen you in the meeting yesterday.
Options :

1. ¥ did not see

2. ® am not seeing

3. # have not seen

4. ® never see

Question Number : 65 Question Id : 5038908791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The artist's true genius lies in his ability to combine high art popular culture.
Options :

1. ¥ with

2. % at

3. % of

4. % in

Question Number : 65 Question Id : 5038908791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The artist's true genius lies in his ability to combine high art popular culture.
Options :
1. ¥ with
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2. % at
3_#® of

4. % in

Question Number : 66 Question Id : 5038908792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

With offices closed during the coronavirus pandemic, employees have to working from home.
Options :

1. #® equipped

2. ¥ adapted

3. % seasoned

4. ® adopted

Question Number : 66 Question Id : 5038908792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

With offices closed during the coronavirus pandemic, employees have to working from home.
Options :

1. # equipped

2. ¥ adapted

3. % seasoned

4. % adopted

Question Number : 67 Question Id : 5038908793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.
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P. On closer observation, I noticed that thg wolf was badly wounded.
Q. Suddenly, I heard a growl and there bejfore me was a white timber wolf caught in a trap.

R. One evening, I was passing through the cold wilderness of South Canada.
S. I tried approaching the wolf but it backed away, furiously straining at the steel jaw trap.

Options :

1. ¥ PSQR
2. ¥ RQSP
3. % QPSR
4. % PQRS

Question Number : 67 Question Id : 5038908793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. On closer observation, I noticed that the wolf was badly wounded.

Q. Suddenly, I heard a growl and there before me was a white timber wolf caught in a trap.
R. One evening, I was passing through the cold wilderness of South Canada.

S. I tried approaching the wolf but it backed away, furiously straining at the steel jaw trap.

Options :

1. ¥ PSQR
2. ¥ RQSP
3. % QPSR
4. % PQRS

Question Number : 68 Question Id : 5038908794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. Science means finding out how things actually do happen.

P: He showed that a light object falls to the ground at the same rate as a heavy object.
Q: It does not mean laying down principles as to how they ought to happen.

R: This did not agree with the views of most learned men of that time.
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S: The most famous example of this concprns Galileo's discovery about falling bodies.
6. But Galileo proved his point experimentally by dropping weights from the Leaning Tower of Pisa.

Options :

1. ¥ PSQR
2. ¥ QSPR
3. % RQPS
4. ® SQPR

Question Number : 68 Question Id : 5038908794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. Science means finding out how things actually do happen.

P: He showed that a light object falls to the ground at the same rate as a heavy object.

Q: It does not mean laying down principles as to how they ought to happen.

R: This did not agree with the views of most learned men of that time.

S: The most famous example of this concerns Galileo's discovery about falling bodies.

6. But Galileo proved his point experimentally by dropping weights from the Leaning Tower of Pisa.

Options :

1. ¥ PSQR
2. ¥ QSPR
3. % RQPS
4. ¥ SQPR

Question Number : 69 Question Id : 5038908795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

COUNTERPART
Options :
1. ¥ Boast


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

2. % Advocate
3 # (Gradient

4. ¥ Duplicate

Question Number : 69 Question Id : 5038908795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

COUNTERPART
Options :

1. ¥ Boast

2. % Advocate
3. # Gradient

4. ¥ Duplicate

Question Number : 70 Question Id : 5038908796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

ZENITH
Options :

1. ¥ Acme
2. # Top

3. ¥ Nadir

4. % Pinnacle

Question Number : 70 Question Id : 5038908796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.
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ZENITH
Options :

1. ¥ Acme
2. # Top

3. ¥ Nadir

4. % Pinnacle

Question Number : 71 Question Id : 5038908797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Camarderie

2. % Camouflage

3. # Capricious

4. ¥ Carnivorous

Question Number : 71 Question Id : 5038908797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Camarderie

2. % Camouflage

3. # Capricious

4. % Carnivorous

Question Number : 72 Question Id : 5038908798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.
Options :
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1. ¥ Definately

2% Necessarv

3. # Discipline

4. % Consensus

Question Number : 72 Question Id : 5038908798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Definately

2. ® Necessary

3. # Discipline

4. % Consensus

Question Number : 73 Question Id : 5038908799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Get a taste of your own medicine

Options :

1. ® If you can't do the job, don't blame it on others

2. % Things are going to get better

3. # To describe exactly what is causing a situation or problem
4. ¥ Do the same bad thing to a person who has done it to you

Question Number : 73 Question Id : 5038908799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Get a taste of your own medicine
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Options :

fad ' i ' it on others

2. # Things are going to get better
3. # To describe exactly what is causing a situation or problem

4. ¥ Do the same bad thing to a person who has done it to you

Question Number : 74 Question Id : 5038908800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Birds of a feather

Options :

1. #® Persons of same caste

2. % Persons of same colour

3. # Birds with same type of feather

4. % Persons of same character

Question Number : 74 Question Id : 5038908800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Birds of a feather

Options :

1. #® Persons of same caste

2. % Persons of same colour

3. # Birds with same type of feather

4. ¥ Persons of same character

Question Number : 75 Question Id : 5038908801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Select the word which means the same as|the group of words given.

Aposttion requirmg tittteormo-work-but-giving the holder status or financial benefit.
Options :

1. ¥ Sinecure

2. ® Veteran

3. % Maiden

4. % Drawn

Question Number : 75 Question Id : 5038908801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A position requiring little or no work but giving the holder status or financial benefit.
Options :

1. ¥ Sinecure

2. ® Veteran

3. % Maiden

4. % Drawn

Sub-Section Number : o)
Sub-Section Id : 503890409
Question Shuffling Allowed : Yes

Question Id : 5038908802 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Tipu Sultan became the ruler of Mysore in 1782. It is said that once he went hunting in the forest with a French friend. There he came face to face
with a tiger. His gun did not work and his dagger fell to the ground. He battled with the tiger unarmed until he managed to reach down and pick
up the dagger. Finally he was able to kill the tiger in the battle. After this he came to be known as the “Tiger of Mysore”.

Mysore had grown in strength under the leadership of powerful rulers like Haidar Ali (ruled from 1761 to1782) and his famous son Tipu Sultan
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(ruled from 1782 to 1799). Mysore contrdlled the profitable trade of the Malabar coast where the Confpany purchased pepper and cardamom. In
1785 Tipu Sultan stopped the export of sgndalwood, pepper and cardamom through the ports of his kingdom, and disallowed local merchants

from trading with the Company. He also established a close relationship with the French in India, and modernised his army with their help.

The British were furious. They saw Haidar and Tipu as ambitious, arrogant and dangerous — rulers who had to be controlled and crushed. Four
wars were fought with Mysore (1767-69, 1780-84, 1790-92 and 1799). Only in the last — the Battle of Seringapatam — did the Company
ultimately win a victory. Tipu Sultan was killed defending his capital Seringapatam, Mysore was placed under the former ruling dynasty of the
Wodeyars and a subsidiary alliance was imposed on the state.

The Company forces were defeated by Haidar Ali and Tipu Sultan in several battles. But in 1792, attacked by the combined forces of the
Marathas, the Nizam of Hyderabad and the Company, Tipu was forced to sign a treaty with the British by which two of his sons were taken away
as hostages.

Sub questions

Question Number : 76 Question Id : 5038908803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ruler of Mysore Tipu Sultan was killed during which Anglo-Mysore war?
Options :

1. #® First Anglo-Mysore war

2. ¥ Fourth Anglo-Mysore war

3. # Second Anglo-Mysore war

4. ® Third Anglo-Mysore war

Question Number : 77 Question Id : 5038908804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Tipu Sultan come to be known as the “Tiger of Mysore*?
Options :

1. ¥ because he managed to kill a tiger in a close battle

2. # because he killed many of the British soldiers in the battle

3. # because he was a very kind hearted ruler and noble person

4. ® because he created a false identity of being a cruel ruler

Question Number : 78 Question Id : 5038908805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Why were two of Tipu Sultan’s sons taken away as hostages?

Options :

1. # because he won a battle against the combined forces of Maratha, Nizams and the Company
2. % because he did not want to protect his empire through the treaty imposed by the Company
3. ¥ because he was forced to sign a treaty with the Company after losing the battle with them

4. ® because he established a close relationship with the French in India and made his army updated

Question Number : 79 Question Id : 5038908806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Hostage”
Options :

1. # detainee

2. % inmate

3. ® captive

4. ¥ captor

Question Number : 80 Question Id : 5038908807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. ® Mysore had grown in strength under the leadership of powerful rulers like Haidar Ali

2. % In 1785 Tipu Sultan stopped the export of sandalwood, pepper and cardamom

3. % Haider Ali also established a close relationship with the French in India, and modernised his army with their help.

4. % The Company forces were defeated by Haidar Ali and Tipu Sultan in several battles.

Question Id : 5038908802 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.
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Tipu Sultan became the ruler of Mysore ip 1782. It is said that once he went hunting in the forest with|a French friend. There he came face to face

with a tiger. His gun did not work and his dagger fell to the ground. He battled with the tiger unarmed until he managed to reach down and pick
up the dagger. Finally he was able to kill the tiger in the battle. After this he came to be known as the “Tiger of Mysore”.

Mysore had grown in strength under the leadership of powerful rulers like Haidar Ali (ruled from 1761 to1782) and his famous son Tipu Sultan
(ruled from 1782 to 1799). Mysore controlled the profitable trade of the Malabar coast where the Company purchased pepper and cardamom. In
1785 Tipu Sultan stopped the export of sandalwood, pepper and cardamom through the ports of his kingdom, and disallowed local merchants
from trading with the Company. He also established a close relationship with the French in India, and modernised his army with their help.

The British were furious. They saw Haidar and Tipu as ambitious, arrogant and dangerous — rulers who had to be controlled and crushed. Four
wars were fought with Mysore (1767-69, 1780-84, 1790-92 and 1799). Only in the last — the Battle of Seringapatam — did the Company
ultimately win a victory. Tipu Sultan was killed defending his capital Seringapatam, Mysore was placed under the former ruling dynasty of the
Wodeyars and a subsidiary alliance was imposed on the state.

The Company forces were defeated by Haidar Ali and Tipu Sultan in several battles. But in 1792, attacked by the combined forces of the
Marathas, the Nizam of Hyderabad and the Company, Tipu was forced to sign a treaty with the British by which two of his sons were taken away
as hostages.

Sub questions

Question Number : 76 Question Id : 5038908803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ruler of Mysore Tipu Sultan was killed during which Anglo-Mysore war?
Options :

1. # First Anglo-Mysore war

2. ¥ Fourth Anglo-Mysore war

3. # Second Anglo-Mysore war

4. ® Third Anglo-Mysore war

Question Number : 77 Question Id : 5038908804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Tipu Sultan come to be known as the “Tiger of Mysore*“?
Options :

1. ¥ because he managed to kill a tiger in a close battle
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2. % because he killed many of the British soldiers in the battle

3 % hecause he was a Very kind hearted kuler and noble person

4. ® because he created a false identity of being a cruel ruler

Question Number : 78 Question Id : 5038908805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why were two of Tipu Sultan’s sons taken away as hostages?

Options :

1. # because he won a battle against the combined forces of Maratha, Nizams and the Company
2. % because he did not want to protect his empire through the treaty imposed by the Company
3. ¥ because he was forced to sign a treaty with the Company after losing the battle with them

4. ® because he established a close relationship with the French in India and made his army updated

Question Number : 79 Question Id : 5038908806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Hostage”
Options :

1. #® detainee

2. % inmate

3. # captive

4. ¥ captor

Question Number : 80 Question Id : 5038908807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. % Mysore had grown in strength under the leadership of powerful rulers like Haidar Ali

2. % In 1785 Tipu Sultan stopped the export of sandalwood, pepper and cardamom

3. ¢ Haider Ali also established a close relationship with the French in India, and modernised his army with their help.

4. % The Company forces were defeated by Haidar Ali and Tipu Sultan in several battles.
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Question Number : 81 Question Id : 5038908808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ffaRad o O ®1F-91 2reg i T &1 38R0 82

Options :
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Question Number : 81 Question Id : 5038908808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed o 9 SH-u1 2reg gfS 9t &1 IaTerur g2
Options :

1. % Tgly

2. ¢ TRUToRA!

3. % UTHIR

4. % JLANH

Question Number : 82 Question Id : 5038908809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfafaa & @ 9ife ws &1 T Fife-
Options :

1. ¢ QIIPTTT

2. % faq

3. % WY

4. ® Ul

Question Number : 82 Question Id : 5038908809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefeRad ® & 9ffTeh Weq b1 =T BIfoTL-

Options :
1. ¢ QXD
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2. % faq

3= YT

4, % byl

Question Number : 83 Question Id : 5038908810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fafad § § HH-91 Ysg Aegw & Yardd Ta-TH g2
Options :

1. # gH

2.V qH

3. % gg

4. % dg

Question Number : 83 Question Id : 5038908810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fRed § @ ®F-91 Wse AW YEYardd 9994 82
Options :

1. # gH

2. ¢ qH

3. % g

4, ® dg

Question Number : 84 Question Id : 5038908811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freferRad # 3 fa=iwor 2req &1 99 HifoTe-
Options :

1. % fgaran

2. % fagrar
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3. % YPpH
4/ G

Question Number : 84 Question Id : 5038908811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feferRad & & fa=iur <reg 1 99 HifeTT-
Options :

1. % foarer

2. % farar

3. ® YpA

4.9 q@

Question Number : 85 Question Id : 5038908812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & @ S 1H-91 Wea "=arar &1 aigar Tel 82
Options :

1. % IARAe-T

2. % U=l

3. ¢ e

4. % Ifd

Question Number : 85 Question Id : 5038908812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & 9§ $H-91 Wrea "warar &1 yafaare T8 82
Options :

1. % IRIgAT

2. % U=l

3. ¢ fHar


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

4. % Jfd

Question Number : 86 Question Id : 5038908813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrAfRirad 3 9 R AT T 1 T -
Options :

1. % &

2. % €Y

3. % fg

4. % U

Question Number : 86 Question Id : 5038908813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfaRad A T SRRTd/dHd Teg &1 TG DiToTu-
Options :

1. % &9

2. % 2P

3. % famrg

4.« U

Question Number : 87 Question Id : 5038908814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frfoif & Q ST BT R T ST
Options :

1. % YRR

2. ¥ DYDY

3. % AERY

4. % 3V
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Question Number : 87 Question Id : S0B8908814 Question Type : MCQ Option Shuffling : Yes IS Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frfoiya & 9 e &1 fid e FH-T1 72
Options :

|. % GG

2. ¥ BB

3. % SIMERI

4. % 3V

Question Number : 88 Question Id : 5038908815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U g & 1T 1 & A U Wsg BT g PIfoTL-

foblt ST &1 g I8 S aTdll-
Options :

1. % WY

2. % fhayrsh

3. # Hifeq

4.« T

Question Number : 88 Question Id : 5038908815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fQU 77T areriRr & fore f O T U Treg T 99 DifoTt-

fohat 91d BT 7[g IER S dTeTl-
Options :

1. % O

2. % gy
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3. % Mfdq
4+ Ty

Question Number : 89 Question Id : 5038908816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 BH-91 AT YT IdHT B BT IGTERT 32
Options :

1. % Tfd< WA @5

2. v H I 81|

3. % ¥Yq g fos 98 B ST

4. % HToTe 31 AT | R ST

Question Number : 89 Question Id : 5038908816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG & & -1 a1 HUTT I HTd BT IGI6UI 62
Options :

1. % MfI< WAW@WRI

2. ¥ b Idal 8l

3. % JYq g fo5 98 o SME|

4. % rordt 3T @ W B SR B

Question Number : 90 Question Id : 5038908817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfeRad H T 9190 o UHR BT IIH Hifole-
3 faxary a1 g fob a8 U 3y feran|

Options :
1. # SIS I
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2. % fqwafeaiys arg

3% {Qe[ai=en qIeRy

4.« VYIRS I

Question Number : 90 Question Id : 5038908817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfafad # @ 91 & TSR &1 IU9 BHIfoTe-
T2 fawary 78t goi f& g8 U= sy feran|

Options :

1. % RAIdD dI

2. # fowmriearys ard
3. % fqYMards are
4. ¢ YIS a1

Question Number : 91 Question Id : 5038908818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fRed o 9§ SH-91 arg fawmfeatye a1 gl 62
Options :

1. % HrEn o SaE grarl

2. % 3 gh qH g4 3|

3. % 3R MUTE b 8l T4

4. v SEAB R TR &

Question Number : 91 Question Id : 5038908818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfaRad & 9 D 1F-91 a1ed fawmfealye a1ed el 62

Options :
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1. % B T Sar- grdTl

L o s ighgoEeay |
3. % 3R MU bl gl 4T
4. v SEAB R TR g

Question Number : 92 Question Id : 5038908819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
iR § & a1 o Yeg U 1 I BifoTe-
Options :

1. % gg f1are o1l e &1 g =gt e ameu|
2. ¢ g (G U1l ey &1 3o 81 fiat @nigul
3. % gg Farr o1l F1a &1 gor =gt e areu|
4. % g fAgt u1| f1ei™ & o 16! fia arfeu|

Question Number : 92 Question Id : 5038908819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfeRad & 9 a1 & g TY D1 I DifoTL-
Options :

1. % gg e 1| M & gl 781 el =
2. ¢ g8 Faiy o1l ey oI or 751 fial anfgul
3. % g ai=T 1| FHGieh o1 Fof 8t fereri =nfeu|
4. % gg fAcTst u1| ey &1 ger =&t e =rul

Question Number : 93 Question Id : 5038908820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o 9 o gerar &1 o1 "3 JHgET 82
Options :

1. ¢ GIA-HTd BT DR FHI|
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2. % gHTT &l gaT T
e =P N

4: % gdl &M Y HgT|

Question Number : 93 Question Id : 5038908820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=ferfad o I fog gerak &1 o "3 IHgHA 82
Options :

1. ¢ TIA-HTId & DR THSAT|

2. % g1 T gal T

3. % EH-gfa1 & WeR 9 T

4. % Tl &M 9 S|

Question Number : 94 Question Id : 5038908821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ foa eifad o1 3 oo 7 S g1y ol a8t 3T 82
Options :

1. % Q-1 9T¢ d1s9 |

2. ¥ ¢ H TRl 51|

3. % Ahal b 9 9o A |

4. % IRIT Y W A&H AR

Question Number : 94 Question Id : 5038908821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafaa § I fog Aeifad o1 orf 'qud & S 81y T a8t 3T 82
Options :

1. % WI-GHT H1g S8 4|

2. ¢ TC U ARG 5|


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

3. % el b 9d 9 A |

| 4 s uueE R deEigErmy |

Question Number : 95 Question Id : 5038908822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= few 7w arem | = § @ f fas &1 v T8t fear man g
e 3R 3 & g T A A BIS oY 81 bl §: AT, TeI0T e

Options :

1. % 3fcufaR™ forg
2. % guifaR™ fog
3. % JufR™ fIg
4. iR fag

Question Number : 95 Question Id : 5038908822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu T aren & A A O Ty fomg 1 v 781 fpa g2
Teg 3R 3 & o9 9 H A BIg Ay 81 Tobdl o T, Feum, o |

Options :

1. % 3eufa™ g

2. % goffor freg

3. % JUfdH forg

4. ¥ GO g

Sub-Section Number : 2

Sub-Section Id : 503890411
Question Shuffling Allowed : Yes

Question Id : 5038908823 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
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Sub questions

Question Number : 96 Question Id : 5038908824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iR o ¥ Swfed TR &1 3fad S SF-1 82

Options :

1. ¢ T A Dt ACCHTYT
2. % IIHR o & dIge |
3. % IaAdl vd fgdl famm |
4, % AT U IR

Question Number : 97 Question Id : 5038908825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUYa TR & TgH & DIF-91 916 guid: 9 &2

Options :

1. % U et 9 =i 1w g9R faR-fafRm aik e &1 wremy €Y 38 R | 98 3R fagM iR &<t 817 o1 wamor +ft /it St 1

2. ¢ P ¥ fag=ht e gHR foaR-fafwa iR fRien &1 d1egw 81 181 81| 98 g4I [agM 3R Wghd 81 &1 YTy +f HHT Sl 361 5 |
3. % JeUpTa Y faexit v suR faeR-fafe $ik Rrenm o7 Aremm g 721 7€)1 98 suR fagH SR 3EiSh 81 o1y off A il <€ R
4. % e Y fae=h i AR foeR-fafma 3R e o1 a1y € 76Y 3€H a8 3R fag $ik 3Rl Td 3¢ 819 1 yHTr +f {1 Sl
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Question Number : 98 Question Id : 5038908826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR G o WY o o1 o e

Options :

1. % Y77 = ol §, 3R A1 gt fifa wrft g1
2. % I 7 qUf B, 7 3! U7 3quf |
3. % gfagr A qul g, 7 =

4.« fas@ 9 qul g, 7w

Question Number : 99 Question Id : 5038908827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad T & TR HR 6 T ICHTHT & =0 H UafSd 7 8 b 1 T HRUT I8 § &

Options :

1. ¢ BH Aprd d RIS 38 3

2. % gH e do W T8I &l

3. % g 39 fawg &t 7iviRar &) 9 & T8 9 |
4. % g R8T 7 SMYR Tp B |

Question Number : 100 Question Id : 5038908828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SU e TR & TR IISC- Sita Pt guidt o forg e & § 1 siaxge g2
Options :

1. % $HH Y HH YR AFTRD! HI fagen § fged &=

2. % HH Y HH URA AFTRSD! DI <=1 H Fgad B

3. % SHTGT Y STG] YRAH ARTRG| &1 faen § fged H=e1|

4.  ANTR! DI faeRi U Bt AHRIBAT I od BT
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Question Id : 5038908823 Question Typ

: No

Question Numbers : (96 to 100)

GET IT ON
Google Play

e : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions

frfoiRaa Tt &1 e gde S HR Ul & IR SifoT-

3Tl Y TS a3 I &) U U1 Iob &, I B SATar faRIwemaefi § g1 gAR UM §, HINieidh Srasdl 3R Wik idd Uadl | TReg 39 b
B9 39 a7l 1 T 181 = b &, FoTaH T ol AT GO II6C] Bl YT YR Sl § [FgHTITHTH 3= df 3R ot 3 § IR S1h!

3ifafe=1 TciaIdl 1 gol H HRd H fauH GIdHa1 1 it 381 8 | §HR] URdsd 4t Siiel-q™ & THM 8 3115 | 98 1 A7 & Plery A
qTdl He YHR & T 99 & AT AR IRR H A7 81 718 ¢ | g1 g8 Ufaeiie o ot fawgd &) man fo #18 fauidr, fafvia eor |, Iemitfde

T TR B e 8] gidl iifch Hikpided

gY@ & fo1 I fasrr 7 quf B, 7 wirft| geamt TR § for Sitg urdt 8, 3R TRaR

& &g e e, Wi, Bl 3M1fe g | Srdaprat I fac=f yren gaR foar-fafma Sik e &1 mey € 78t 38 98 5o fagH siR
X 81 BT T +f AT STl 8 3 1 U fRufa F A sHH B S I 34T H ofifdd Y81 & ded 4 RIgR 3ad |, dl e &t a1
6T | TR I 1 FRUF 1 R AahR l Ffobea wva =181 gt | Rrse-silad o1 quidT & fore 3-1cb HHISRT bl Hard 1 g1 3R 98 B1d
IR TRreTaTed € aifes TR I SieH aTelt SRIT ¥ ST Bl Sidhe- aTal YadT S €6 gidl o

Sub questions

Question Number : 96 Question Id : 5038908824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRed & & Sufed T &1 I NS SF-91 62

Options :

1. ¢ T I DI IACHIN|
2. % AWPR o & dedh |
3. % WaAar g fBdl faspr|
4. % WdAd Ud WRIEH|

Question Number : 97 Question Id : 5038908825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T & e & HH-91 a1 gula: T4 82

Options :

1. % Ui orat & ¢=f 1T gAR feR-fafRm ik e o1 ey €) 38t R | 98 R fagH ok &<t 81 o1 wamor +ft A STt 1 2
2. ¢ SdeTa  fac=ht e AR faR-fafag ofR Rien o1 orerm §t 781 361 98 59N fagH iR Wdd g+ &1 yH1or off It St %81 8 1
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Question Number : 98 Question Id : 5038908826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR G iced TYd o o1 o ereh

Options :

1. % o 9 guf g, SR A1 8 ifd wrh g1
2. % e T YUl g, 7 39! el Ul g
3. % Sfogra A quf §, 7wt

4. oo A qul g, T R

Question Number : 99 Question Id : 5038908827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR AR I T ASCHTHT & =0 & IS = 81 Hebel BT YId HRUT g § [
Options :

1. ¢ g1 dideTd ab RIS W/ B

2. % g1 ddeTd a WIEh T8 e

3. % g 59 favg &t 7iHiRdl &) gHe € el b |
4. % GORY e BT YR Wpd o |

Question Number : 100 Question Id : 5038908828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR IMSC- Sia- Pt guidt o forg e & § . siaxae 82
Options :

1. % HH Y HH YR AFTRD! BI fae=n # fgad &=

2. % HH Y HH YR ARTRSD! DI <=1 H Fgad w1

3. % S1QT § SUIGT HRA™ ARTRe ! ®I fae=n d fAged =
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Disciplinel
Group Number : 6
Group Id : 503890218
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 503890345
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890412
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5038908829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The of a project is the present value of future expected cash flows divided by initial outlay.
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Options :

1. ® Net present value

2. ¥ Profitability index
3. # Internal rate of return

4. ® Accounting rate of return

Question Number : 101 Question Id : 5038908829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopft afeaIoT & Uidw & Siférd Ad<l UaTe & IdHM Hed &1 IR uRed ¥ faHTiorg &a W frear gl
Options :

1. % G IqqH Ied

2. ¢ QAIHYCA YEHID

3. % QU] B SHidRD &

4. % QU B AT &

Question Number : 102 Question Id : 5038908830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a function of SEBI?

Options :

1. ® It drafts regulations on securities market.

2. # It conducts investigation on irregularities in share market and enforce action.
3. ¥ It conducts as commercial banks.

4. % 1t trains intermediaries of the securities market

Question Number : 102 Question Id : 5038908830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & 3 o1 Gel &1 S 51 82

Options :
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1. * gg ufayfa IR & Faw &1 7T dUR HRar gl
L 0 % 7g R goR T A @IS HRdl § R HRATS B AN HRAT ¢ |

3?213&1%11‘@165%@%@1?%%6@61%
4. % Ig vfayfd IR 3 feiferdl o ufRiferd wrar |

Question Number : 103 Question Id : 5038908831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A statement of source and application of funds is a technical device designed to analyse the changes in the financial condition of a business
enterprise between two dates.” This is known as—

Options :

1. ¢ Fund flow statement
2. % Profit and loss account
3. # Cash flow statement
4. % Balance sheet

Question Number : 103 Question Id : 5038908831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AId &1 faavor $iR At o1 srguan &t fafrl & st U arawiies SO &t fadiia fRufa & ufkad-l o1 faReiwor & & o U adb-ia!
IUHT T feulzd g1 59 fhg =0 A ST SrdT 8-

Options :

1. ¢ ADhs YdIg faaxu
2. % @Y 3R g1 @
3. % IPha] Uty fgavur

4. % qE-97

Question Number : 104 Question Id : 5038908832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Statement is prepared on the basis of working capital which includes items which can not be easily converted into cash in short
period.
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Options :
1. # Cash flow statement

2. ¥ Funds flow statement
3. ¥ Profit and loss account
4. % Balance sheet

Question Number : 104 Question Id : 5038908832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a0 Srfxiie Yolt & SR IR daR T Sirar & ford d eige e 8id & o ST & &3 3afy # Favd! & uRkafdd Tat
forar o g |

Options :

1. % HY U Lede
2. ¥ T8 Uil Il
3. % T 3R g1 @
4. % gog e

Question Number : 105 Question Id : 5038908833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under single entry system, capital in the beginning of the accounting year is ascertained by preparing a
Options :

1. #® Debtor's account

2. ® Cash account

3. ¥ Opening statement of affairs

4. ® Profit and loss account

Question Number : 105 Question Id : 5038908833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THd UfafP Ugfd o Sl arar a¥ ! RS Yoil fhd WTd &1 SR AT &1 ol 82

Options :
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Question Number : 106 Question Id : 5038908834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State the ratio in which the partners share the profit or loss on revaluation of assets and reassessment of liabilities.
Options :

1. ¥ Old profit sharing ratio

2. # Sacrificing Ratio

3. # Gaining ratio

4. % New profit sharing ratio

Question Number : 106 Question Id : 5038908834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y SIUTd BT I PO orerd AR TaRrl 3R Il & G- UR g arel a1y 31 g1+ &1 A1l H=d 5 |

Options :

1. ¢ QRS faHTS SruTd
2. % §fefg 3uTd

3. % Y 3IUTd

4. % g1 Y fUTSH 3UTd

Question Number : 107 Question Id : 5038908835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Assess the following situations and identify which relationship given below be called partnership.
Options :

1. ® A and B share a car and use it for outings on Sundays.
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2. % B has a firm and he employed X as f manager in his firm.

3 # Two travelling agencies _each havidg 6 partners, combine by agreement into one firm.

4. ¥ Some persons actually agreed to contribute Rs. 5000 annually to produce goods for old age home.

Question Number : 107 Question Id : 5038908835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad fRufaat &1 e &Y 3R Uga fob i faT U 19 § Yay I8ieR Hgdd ¢

Options :

1. % A 3R BUPH BRI B & 3R TR o1 T8 Aba & ot 391 1A Hd 5

2. % BPHIUH BH g 3R IYA X B! 30 BH H Jeiee & 0 § Hgad fhar g |

3. % Bl ¢ad iR, o H 9 U H 6 WIRIGR 8, Uh BH H GHSId gRIT38Y $d 6|

4. v TS A IG 3TH & [ THM IATE 5 5000 FTUT Ui 9 ANGH 3 B TgHd §U

Question Number : 108 Question Id : 5038908836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following instruments is to be treated as Negotiable Instrument under Negotiable Instrument Act. 18817
Options :

1. # Railways receipts

2. % Bills of lading

3. ¥ Bills of exchange

4. % Delivery orders on warehouses

Question Number : 108 Question Id : 5038908836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefed & J fba oot (@ghe) 1 tRebr ferad Sifigm 1881 b ded URePTR forgrd HIAT SiTel 67
Options :

1. % 394 TS

2. % G P foad
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3. ¢ A & foa
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Question Number : 109 Question Id : 5038908837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A draws a bill on B and Negotiates it. B is a fictitious person, the holder may treat the bill as a
Options :

1. # Bills of exchange

2. ¥ Promissory Note

3. % Hundi

4. ® Cheque

Question Number : 109 Question Id : 5038908837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B R T fod ST & 3R I WR Il Bl ¢ | B Ub DIedi-dh ofad &, YR foc Bl & ¥ H HH 9l o-
Options :

1. % faf g o foa

2. ¥ 917

3. % g3l

4. % &b

Question Number : 110 Question Id : 5038908838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A short term negotiable instrument is—
Options :

1. ¥ Hundi

2. # Fixed deposit

3. ¥ Bills of exchange
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4. % Shares

Question Number : 110 Question Id : 5038908838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIFd H A T TP 3fcpITeIh URShTH 8-
Options :

1. % gat

2. % grafe S

3. ¢ faf g guz (fo)

4. % 3x

Question Number : 111 Question Id : 5038908839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Goods sent on consignment is stolen, what type of loss will it be called?
Options :

1. ¥ Normal loss

2. % Loss of sale

3. % Abnormal loss

4. # Consignment loss

Question Number : 111 Question Id : 5038908839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 0T TR Wl 791 7T AR B STl &, ol S [ bR BT JHHT gl SIE?
Options :

1. % 9 JHAH

2. % {dhg § JHIH

3. ¢ MR THAH

4. % T 1 gIH
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Question Number : 112 Question Id : 5038908840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the cause of depreciation?
Options :

1. ¥ Wear and tear due to use in business

2. # Efflux of time even when good is not being used
3. ¥ Unexpected Obsolescence

4. # Expected Obsolescence due to technological changes

Question Number : 112 Question Id : 5038908840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed & @ ®1F-91 Ieugi &1 HRU 8! 82
Options :

1. % UR ¥ YN & HRU ¢e-Be

2. % M DI A TH g TR Y IS ST 9 BIHT
3. ¢ 3FTUTET STua

4. % IOfer gt uRad=l & SR U=Ia

Question Number : 113 Question Id : 5038908841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which of the following schedules to the Companies Act 2013, computation of Depreciation has been provided?
Options :

1. %1

2.V 11

3. % 11

4. % 1V

Question Number : 113 Question Id : 5038908841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

o iffe 2013 @ Fafafed o @ frg YR & ded Jeus™ &1 TUMT UeH &1 718 82
Options :

1% 1

2.9 11

3. % 111

4. % 1V

Question Number : 114 Question Id : 5038908842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors is not taken into account for calculating exact amount of depreciation?
Options :

1. #® Cost of asset including expenses for installation, commissioning, trial run etc.

2. # Estimated useful life of the asset.

3. ¥ Estimated selling price of the asset.

4. ® Estimated scrap value (if any) at the end of useful life.

Question Number : 114 Question Id : 5038908842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AU U FR®| H g™ &1 Tg! JE1 St 0T & g ford 1 &1 § g a1 71 82
Options :

1. % it P ArTd forH RATOHT, HHIRIT, TR I 3Mife & W< M 5l

2. % Hufxl &1 SFHIAT TR St |

3.« U &1 ST foeh! ge1|

4. % IUANT St & 3fd | ST WhU geu (IS B8 )|

Question Number : 115 Question Id : 5038908843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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From which of the following sources the [Debenture redemption reserve is created?’

QOptions
r

1. #® Out of the reserves and surplus
2. % Out of the profits
3. % Qut of the securities premium

4. % Out of the capital reserves

Question Number : 115 Question Id : 5038908843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad 7 9 f5= Iia I oz A frord (fEer e fverd) s=mar mar g2

Options :

1. % Rod SR SftRw ¥
2. ¥ % 9

3. % gfoyfodl & e 9
4. % SRI&C Yol A

Question Number : 116 Question Id : 5038908844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a company issued 50,000 shares and received application for 60,000 shares. It is the case of—
Options :

1. # Under Subscription

2. % Minimum Subscription

3. % Over Subscription

4. ¥ Maximum Subscription

Question Number : 116 Question Id : 5038908844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fadt Ut 3 50,000 R R fHT 3R 60,000 VRN & T 3mae ured fpu| g & § g foges sidwfa smam-
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Options :
1% g N (SN & dgd)

2. % YAqH UG
3. ¢ 3Hfd S (SATHTH)
4. % JHfHaH UM

Question Number : 117 Question Id : 5038908845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Men may come, Men may go but the business enterprises continues”. This is based on which accounting concept?
Options :

1. # Revenue recognition

2. ¥ Going concern

3. # Dual aspect

4. % Money measurement

Question Number : 117 Question Id : 5038908845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g AT G ed-Td & bl SR TR YT € "oafad i, fad S afds e 39 HIaH g2
Options :

1. # 3{NTH AT

2. « IR Taar UfasH (e &)

3. % fguefioa

4, ® Hal AU

Question Number : 118 Question Id : 5038908846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X Itd. Forfeited 100 equity shares of Rs. 10 each for non- payment of first call of Rs. 2 per share. The final call of Rs. 2 per share was yet to be
made. What can be the amount of discount at which the shares can be reissued?

Options :
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. % Rs. 2 per share

—% Rg 4 pershare

1

2

3. ¥ Rs. 6 per share
4. ® Rs. 2.5 per share

Question Number : 118 Question Id : 5038908846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fIfies A Ugell HId TR 2 $UT Ui 1= 6T YA ol B IR 103U a1 100 JHAT S P STed B fordn & | foraapt sifad &id 2
P UfA I BT S1h! ¢ | YT P ag AF Iz o TR 320 &1 bR | OIRY fopa o1 wava 82

Options :

1. % 2 %00 gfd }R

2. % 4300 Ufd IR

3. ¢ 6300 Ufd AW

4. % 25300 Ufd AW

Question Number : 119 Question Id : 5038908847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the financial statement from the following that is not prepared by non- profit organization?
Options :

1. #® The receipts and payment account

2. ¥ Profit and loss account

3. # Income and expenditure account

4. # Balance sheet

Question Number : 119 Question Id : 5038908847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofifed & 9 3 91 facig faaRor IR-arHSRY W §RT IR 781 fba1 T g

Options :
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Question Number : 120 Question Id : 5038908848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the term ‘Deficit’ means in reference with Non Profit Organization?
Options :

1. #® Excess of income over expenditure

2. ¥ Excess of expenditure over income

3. # Excess of payment over receipt

4. ® Excess of receipt over payment

Question Number : 120 Question Id : 5038908848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FrafaRad & 9 TR-aeR! WiTed & Hay T =T 2eg &1 o1 37 57
Options :

1. % g 3 3% 3mg

2. I Y 3Hi¥® g

3. % Tt ¥ M Y

4. % TTAE I 31 Wkl
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Question Number : 121 Question Id : 5038908849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In preparing statement of affairs, the assets and liabilities are shown on different sides. Capital is the:
Options :

1. ¥ Balancing figure of assets and liabilities

2. ® Balancing figure of fixed assets and current liabilities

3. # Balancing figure of current assets and current liabilities

4. ® Balancing figure of total assets and current liabilities

Question Number : 121 Question Id : 5038908849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 122 Question Id : 5038908850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. Shukla started a business and did not maintain the financial books according to double entry system. He introduced fresh capital of Rs.
13,000. And withdrew Rs. 10,000 for personal use on march 31, 2019, his assets and liabilities were creditors — Rs. 90,000, Debtors — Rs.
1,25,600, Cash Rs. 24,980. His profit for the year would be.

Options :

1. ¥ Rs. 57,580
2. % Rs. 63,580
3. % Rs. 30,330
4. % Rs. 30,100

Question Number : 122 Question Id : 5038908850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ ¥0Y 57,580
2. % JTY 63,580
3. % 304 30,330
4. % FUY 30,100
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Question Number : 123 Question Id : 5038908851 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Opening capital is ascertained by preparing —
Options :

1. #® Cash account

2. # Total creditor’s account

3. # Total Debtor’s account

4. ¥ Opening statement of affair

Question Number : 123 Question Id : 5038908851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR goft &1 Fefkor g & & oor JaR o fear S 3-
Options :

1. # b @idl

2. % Hd TAIGR BT Jdl

3. % $d GIGR DI @Il

4. « BT BT HATT fdaroT (3Naf1 ReHe 3 3haR)

Question Number : 124 Question Id : 5038908852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A company may wind up voluntarily under-

Options :

1. # Section 60 of the Insolvency and bankruptcy code 2016
2. ¥ Section 59 of the Insolvency and bankruptcy code 2016
3. # Section 49 of the Insolvency and bankruptcy code 2016
4. % Section 62 of the Insolvency and bankruptcy code 2016

Question Number : 124 Question Id : 5038908852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % faaren iR fearferamu= T@fgar 2016 1 4RT 62

Question Number : 125 Question Id : 5038908853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is the type of accounting which analyze and classify the expenditure as well as the total cost of a particular product. Identify the correct option-
Options :

1. # Financial accounting

2. ¥ Cost accounting

3. % Inflation accounting

4. ® Managerial accounting

Question Number : 125 Question Id : 5038908853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g AW BT U UPHR & Sl 00 & Wid-r fort fa=ie IeTe &1 il arTd o1 ARy 3R Fiffdmrur Bl | | Ut fadhed ! UgdH &e-
Options :

1. % fa<iig dgi

2. ¢ WNTd G

3. % ORI oRdidh

4. % YYD dih

Question Number : 126 Question Id : 5038908854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which inventory system focuses on ° the fight material, of the right time, at the right place, and in the fexact amount'?
Options :

1. # FSN analysis
2. % VED analysis
3. ¥ JIT analysis

4. % ABC analysis

Question Number : 126 Question Id : 5038908854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % UYL fazeyo

2. % digst fazawo

3. ¢ st faxawor

4. % TorT fa=ayo

Question Number : 127 Question Id : 5038908855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What shares of profit would a ‘sleeping partner “who has contributed 75 percent of total capital get in the absence of the deed with his partner?
Options :

1. ¢ Shares profit in the ratio 1:1

2. % Shares profit in the ratio 2:1

3. ® Shares profit in the ratio of 3:2

4. ® Shares profit in the ratio of 2:3

Question Number : 127 Question Id : 5038908855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 128 Question Id : 5038908856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true in respect of significance of financial analysis?
Options :

1. # It helps to identify the trend of business

2. % It helps to judge the efficiency of business

3. # It is significant for stock exchange authorities

4. ¥ Tt reflects changes in price level

Question Number : 128 Question Id : 5038908856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foriTa fa=aiwor & He@ & day & Hafeied & 9 oF 91 &= 9 81 62
Options :

1. % Ig U $1 UgRi &I UgdH HR- § Hee Hdl §

2. % g AGU™ DI G&IdT BT (U HX & TG ol o

3. % Wi Yool AHUBIRG! & Tl I8 Hedqul &

4. v 9% Yo TR § 9aad &I gidi g

Question Number : 129 Question Id : 5038908857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following benefits is not offered by Job costing?
Options :

1. ® It makes available the cost of material, labor and overhead daily or weekly for every job.
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2. % Tt easily identifies the spoilage or ddfective work

3% Products manufactured are of unifodm nature.

4. ® Tt is suitable for those products for which selling price is determined directly on cost basis.

Question Number : 129 Question Id : 5038908857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT G &1 HIF-91 AT g1 82
Options :

1. % g U B P U e a1 Iriaifess Ireh, 44 3R Ul Pt aTd Iudsy HRIal |

2. % g M ¥ VRIS 1 GIYU] BT &I Ugd dxal g |

3. ¢ fAftfa Sare e T yefd & g |
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Question Number : 130 Question Id : 5038908858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gopal runs a grocery shop in the local market. He buys goods from the wholesale market and sells it to the customers as per their requirement.
By doing so he earns some profit. Which type of business organisation he runs?

Options :

1. # Joint Hindu Family

2. ¥ Sole proprietorship

3. # Partnership

4. % Cooperative Society

Question Number : 130 Question Id : 5038908858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 131 Question Id : 5038908859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a criteria for a current asset?
Options :

1. ® It is expected to be realised in the normal operating cycle
2. # It is primarily for the purpose of being traded

3. # It is expected to be realised within 12 months

4. ¥ Tt is expected to be useful for a long time

Question Number : 131 Question Id : 5038908859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 132 Question Id : 5038908860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a characteristic of Partnership form of Business Organisation?
Options :

1. # Contractual Relationship

2. ¥ Existence of Lawful Business
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3. % Principal Agent Relationship

4_% Can raise unlimited r‘ﬂpi‘rﬂ]

Question Number : 132 Question Id : 5038908860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 133 Question Id : 5038908861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This management is concerned with the people at work and with their relationship within an enterprise. It is known as
Options :

1. # Personal management

2. ¥ Human resource management

3. # Financial management

4. # Cost management

Question Number : 133 Question Id : 5038908861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4, % ANTd UdYq

Question Number : 134 Question Id : 5038908862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the method of job evaluation which involves mental requirements, skill, physical requirement etc. as critical factors.
Options :

1. ¢ Factor- comparison Method

2. % Job classification method

3. % Job ranking method

4. ® Point rating method

Question Number : 134 Question Id : 5038908862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT Yeich-1 B! At 1 UgaH & o H Heaqul HR®I & U 8 AHRIS aRgedTd, HIRd, ARG g ife id ]
Options :

1. ¢ "o ol fafd

2. % HrY giffexur fafdy

3. % =g gon faure fafe

4. % forg fafg

Question Number : 135 Question Id : 5038908863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State which one is not one of the outcomes of training programmes held by organization for employees.
Options :

1. #® Increasing productivity

2. ¥ Increase in wages

3. # Personal Growth

4. ¥ QObsolescence Prevention
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Question Number : 135 Question Id : SD38908863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IdTGhdl SgMI

2. ¢ a1 H gfg

3. % Hfaqid [ds™

4. % U JAHYUTH

Question Number : 136 Question Id : 5038908864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a process of discussion and negotiation between two parties, one or both of whom is a group of persons acting in concert.
Options :
1. ¥ Collective bargaining
2. % Communication
3. % Participation
4. % Consultation

Question Number : 136 Question Id : 5038908864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ IHfe® Tigarsi
2. % gOR
3. % YrfigR’
4, % R
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Question Number : 137 Question Id : 5038908865 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are Non-current intangible assets-
1. Vehicles

2. Office furniture

3. Trademark

4. Computer software

Options :

1. % 3 only

2. % 1 and 2 only
3. % 3 and 4 only
4. % 1,2,3and 4

Question Number : 137 Question Id : 5038908865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefed & B R-are 3 Jufi /8-
1. dlgd
C o
2. pIYIdY ][R
3. ¢SS
4. Y JIGCqUR
Options :

1. % %Had 3
2. % Had | 3R 2
3. ¢ Had 3 3R 4

4. % 12,334

Question Number : 138 Question Id : 5038908866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A is a computer network of geographically dispersed and heterogeneous computational resources.
Options :
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1. ¥ Grid
2% Rlock chain

3. #¥ Server
4. % Wireless

Question Number : 138 Question Id : 5038908866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T e U 9 foer gU ok favm S Sunel &1 U Hoex edd g
Options :
1. ¢ s
2. % sdlp °
3. % gR
4. % qRIRAY

Question Number : 139 Question Id : 5038908867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State which is the example of cloud services-
1. Infrastructure as a Service. (IaaS)

2. Platform as a Service. (PaaS)

3. Software as a Service. (SaaS)

Options :

1. % 1 and 2 only
2. % 2 and 3 only
3. % 1 and 3 only
4.¥1,2and3

Question Number : 139 Question Id : 5038908867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffed 7 3 o1 Fards Jarshl T IaTeR 6-
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2. e TS 3 IfdY (Paas)

GET IT ON

Google Play

3. AITedaR TSl 3f I (Saas)
Options :

1. % Had 1 3R 2

2. % Had 2 3R 3

3. % %Had 1 3R 3

4.¥ 1,2 3R 3

Question Number : 140 Question Id : 5038908868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify which of the following statements is not about the ideas of a smart city?
Options :

1. # Smart city makes use of computer and communication technology, efficiently.
2. # Smart building use sensor to detect tremors etc.

3. ¥ Transportation system is complex in smart city.

4. # Bridges are designed with wireless signals to detect any looseness or cracks.

Question Number : 140 Question Id : 5038908868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ¢ et HeR R AR TEIRG! H1 HRAAId® YA H3al 6 |

2. % W fafeET YU 31 T Tl T & fort TR T SUTRT il 8|

3. ¢ T1¢ Rt § uRagd srarir Sfed g

4. % DIz W} ST I GRR BT U1 A & o8 gal &l arRey Rga o a1y f&omes fear man g

Discipline3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Group Number : 8

Group Id : 503890220

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 503890347

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890414

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5038908869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of bills of exchange?
Options :

1. # It should be in writing

2. % It is an order to make payment

3. ¥ The order to make payment is conditional

4. ® The maker of bill must sign it
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38908869 Question Type : MCQ Option Shuffling : Yes

n

FaY 43 NL L 10O 43 IAd
\{ucauuu INUIauTeIs « 1<l \{ucauuu IU .
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead # 4 9.1 fafag faa ot fawdr 78 22
Options :

1. % 7g fafkad & g amfee

2. % g YA B BT M 3

3. ¢ YA A BT A I §

4. % f9d & fAHlaT &) 39 R SR HAT AT

Question Number : 142 Question Id : 5038908870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the INCORRECT method of evaluation?

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Self — evaluation

2. Participatory evaluation

3. Interactive evaluation

4. External evaluation

Question Number : 142 Question Id : 5038908870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRIF 7 Y o I qeio 1 fafy T8 32
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.
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Options :
1 ¥9-HHidb

2. GEUTT GedichT
3. ScxUfaed i
4. STERI G

Question Number : 143 Question Id : 5038908871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given options identify which statement is not relevant for an ideal organizational structure?
Options :

1. # Responsibility should be clear and matched by authority.

2. % Business structure should be flexible.

3. ¥ Power is centralised at the top without any delegation.

4. ® Corporate plan spells out the firm’s vision

Question Number : 143 Question Id : 5038908871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Y fasedl & @ ug=nY f &1 91 $Y7 Te 3Met ia-Tds We-T & fore urdfie &l 82
Options :

1. % iR Wy 3R U gR1 3d @ 21T

2. % GRS I <riiel gt ey

3. ¢ 3MBR o fheft v & iy R hiepd & |

4. % HIARC TSI BH & VDIV BT WY Bl o

Question Number : 144 Question Id : 5038908872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State which statement is untrue from the following-
Options :
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1. # A special cell has been set up withir} the rehabilitation finance division of IDBI to attend the cas¢ of sickness of industries.

2% RBI hag clarified that units becomidg sick on account of willful mismanagement.

3. ¥ RBI issued suitable guidelines to the bank to determine sources of additional funds needed to finance.

4. % RBI has constituted a standing co-ordination committee to consider issues relating to co- ordibation between commercial banks and lending
institutions.

Question Number : 144 Question Id : 5038908872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YN 1 BT o HTHA D1 of1d o [T SRS IS & YA fad AT & HidR T fa=RIw Uiy RAfid fear g

2. % JREISME 7 WY 51§ &b THehR SUSHT b HRUI 3T AR 81 6! &
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Question Number : 145 Question Id : 5038908873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a company tries to cover up its bad financial position, it is known as:
Options :

1. ¥ Window dressing

2. % Personal bias

3. % Lack of qualitative analysis

4. ® Adaption of different accounting policies

Question Number : 145 Question Id : 5038908873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 BIS HU o TR iy Rufa ) f5um 7t HIfRir vt B, o I FgT e &:

Options :
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Question Number : 146 Question Id : 5038908874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A is not liable to tax.
Options :

1. # Revenue receipts

2. ¥ Capital receipts

3. # Receipts from royalties

4. ® Receipts as salary

Question Number : 146 Question Id : 5038908874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R & forw IR Tl B
Options :

1. % JoRa g

2. « USINTd W

3. % Ygec! 9 UIfGrai

4. % gdq & &Y H U™l

Question Number : 147 Question Id : 5038908875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under sec. 17 (2) of the income tax act if an employer provides an accommodation to his employee on rent , this is ?
Options :

1. ® Taxable
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2. # Partial taxable
2 % Non - Taxable

4. ® Tax paid by employer.

Question Number : 147 Question Id : 5038908875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BRI

2. % i1 P ARG

3. ¢ IR-BR ARG

4. % [0S GRT YA fobar T/

Question Number : 148 Question Id : 5038908876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true about capital reserve?
Options :

1. # Itis created out of capital profit

2. ¥ It is available for distribution of dividend

3. # It can be used to issue bonus shares

4. % It can be used for writing off capital losses

Question Number : 148 Question Id : 5038908876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. ¢ g ATHIR & fadRor & fog Suasy 3
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Question Number : 149 Question Id : 5038908877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following items of current assets and arrange them in the order of liquidity-
1. Closing stock

2. Cash in hand

3. Cash at bank

4. Debtors

Options :
1. ¥ 2341
2. % 1234
3. % 3241
4. % 4123

Question Number : 149 Question Id : 5038908877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gdqH gRarfa o1 Fafifed el &R faaR &3 3iR 3% 9d! & HH H sgafyd HI-
1. 3ifaw gt

2.3HS AN

3. 9% H Adg

4. GIGR

Options :

1. ¥ 2341

2. % 1234

3. % 3241

4. % 4123

Question Number : 150 Question Id : 5038908878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
From the given list, which is not indirect fax?

Options :
1. ¥ Excise tax
2. % GST
3. ¥ VAT

4. ¥ Income Tax

Question Number : 150 Question Id : 5038908878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& T T T Y BT e BR TR 8
Options :

1. ® 3dIq PR

2. % Giegdt

3. % d¢

4. ¢ TP

Question Number : 151 Question Id : 5038908879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of capital expenditure?
Options :

1. # They increase the earning capacity of the business

2. # They yield benefit over a long period

3. ¥ They are debited to profit and loss account

4. ® They are incurred for aquiring fixed assets

Question Number : 151 Question Id : 5038908879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafed & 9 SH-R guivTd oag 1 faRivar 781 &
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Question Number : 152 Question Id : 5038908880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are current liabilities—
1. Public deposit

2. Outstanding expenses

3. Calls-in-advance

4. Provision for taxation

Options :

1. # 1 and 2 only
2. % 2 only

3. % 1,2 and 3 only
4.+ 2, 3 and 4 only

Question Number : 152 Question Id : 5038908880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & & & arg cadd 8/6-

1. QeI S
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Options :

|. % Pad | 3R 2
2. % Had 2
3. % Had 1,2 3R 3
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Question Number : 153 Question Id : 5038908881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are the fundamental accounting assumption/s?
1. Going concern assumption

2. Consistency assumption

3. Accrual assumption

Options :

1. # 3 only

2. % ] and 3 only
3. % 2and 3 only
4.% 12and3

Question Number : 153 Question Id : 5038908881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfRed & ¥ D H-91- Hiid daidh SaURoT 5/6?
1. IR Taarg U™ @M 63-) SaETRun

2. GHIETAT S@YRN
3. JUTSI YR

Options :

1. % $Had 3

2. % FHad | 3R 3
3. % Had2 3R 3

4. ¢ 12 3R 3

Question Number : 154 Question Id : 5038908882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At present world Bank has Member countries.
Options :
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Question Number : 154 Question Id : 5038908882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aoAe H fay 9% & U SCASER]
Options :

1. % 180

2. % 185

3.¥ 189

4. % 181

Question Number : 155 Question Id : 5038908883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The gold standard was the foundation of the International trading system because-
Options :

1. #® The gold is available everywhere.

2. # The gold could easily be carried from one place to another.

3. ¥ The currency of the country was freely convertible into gold.

4. ® The gold is precious.

Question Number : 155 Question Id : 5038908883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS TR YUTTedt BT SHIYR Tl Ao T Hifb-

Options :
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Question Number : 156 Question Id : 5038908884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Contingency fund of India is placed at the disposal of .
Options :

1. ¥ President

2. ® Vice-president

3. % Finance Minister

4. ® Prime Minister

Question Number : 156 Question Id : 5038908884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR B BB AP & ggaehia @ gl
Options :

1. ¢ gufd

2. % JWIPUfd

3. % fad w3t

4. % QY HAl

Question Number : 157 Question Id : 5038908885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who said “The fund was really a bank and a bank a fund”?
Options :

1. ® William Anson

2. % Fedrick Pollock
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3. ¥ Keynes
4_ % RBretton woods

Question Number : 157 Question Id : 5038908885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # fafergs @4

2. ® g Uiddh

3. DI

4. % deA19gH

Question Number : 158 Question Id : 5038908886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are managed on day to day basis through official intervention in foreign exchange markets.
Options :
1. # Floating exchange rates
2. ¥ Pegged exchange rates
3. # Co-operative arrangements
4. % Independent float

Question Number : 158 Question Id : 5038908886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Iyt fafmg ¥
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4. % WgdA UAIC

Question Number : 159 Question Id : 5038908887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SDRs were created by IMF. What is the full form of SDR?
Options :

1. # Standard deviation rate

2. ¥ Special drawing rights

3. # Special drawing rate

4. ® Standard Drawing Rates

Question Number : 159 Question Id : 5038908887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TUSISR 3METATE GRT §AT 7Y ¥ | TSR &1 quf &0 &1 82
Options :

1. % WUss fefaueA e (Standard Deviation Rate)

2. ¢ W SIfdRT RMSTH (Special Drawing Rights)

3. % TS SIATT YT (Special Drawing Rate)

4. % XTSS ST ¥ (Standard Drawing Rates)

Question Number : 160 Question Id : 5038908888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between a country’s payments to foreigners and its receipts from foreigners is termed as—
Options :

1. ¢ Balance of payment

2. % Balance of trade

3. # Balance of supply

4. % Balance of currency
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Question Number : 160 Question Id : 5

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Wi dgad
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Enable Mark as Answered Mark for R¢view and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890415
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5038908889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A proposed foreign exchange system in which frequent and automatic small adjustments in the par value of a currency is allowed to occur within
a band of rates, is known as-

Options :

1. ® Capital account
2. ® Ceiling peg

3. ¥ Crawling peg
4. ® Floor peg

Question Number : 161 Question Id : 5038908889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Yoil @rar

2. % Hifdmum

3. & I U

4. % TR U

Question Number : 162 Question Id : 5038908890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A new organization that replaced GATT with objective to promote the multi lateral trade.
Options :
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1. ¥ IMF
2_# WRO

3. ¥ WTO
4. % GTO

Question Number : 162 Question Id : 5038908890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SgU&TI ATUR & §61dT ¢ & 3589 A GATT ! YA R aTdl U =11 T3+-
Options :

1. % JISTATD

2. % gl

3. ¢ 4% ATUR 137

4. % ST

Question Number : 163 Question Id : 5038908891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If material consumed is added to gross profit then, we find—
Options :

1. ¥ revenue from operations

2. % closing stock

3. % opening stock

4. % purchase of stock

Question Number : 163 Question Id : 5038908891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g IUHNT BT 778 A &b Gobed oY H Sl a1 9g, ot g1 g |
Options :

1. ¢ ATeH 9 Mo
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2. % VAT (3ffaH Igfaam)

3% Ui Oy

4. % Wb Bl W

Question Number : 164 Question Id : 5038908892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are four components of Indian Financial System.
1. Financial Institution

2. Financial Market

3. Financial Securities.

Which one is the remaining fourth from the following?
Options :

1. # Financial Accounting

2. ¥ Financial Services

3. # Financial Management

4. ¥ Non- financial Institution

Question Number : 164 Question Id : 5038908892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefead yRdr fa<dia yomedt & IR gcb gl
1. fa<ita 9=

2. fa<ita SR

3. foxfta wfayfaai

Fofafed & 3 A9 T pH A e?
Options :

1. % fa<iig craich

2.  fa<itg garg

3. % fa<itg yeiem

4. % IR-foia dRM
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Question Number : 165 Question Id : SD38908893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In new financial securities are issued through stock exchange to facilitate capital formation.
Options :

1. ¥ Primary Market

2. # Secondary Market

3. # Capital Market

4. % Money Market

Question Number : 165 Question Id : 5038908893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o goft fFmtor ot gfawr & fo weis faf g & aream § 2 foxdta ufayfat SRt &1 o 5
Options :
1. ¢ UIYfH ST6R
2. % HIeHIHD F6R
3. % Uoil IT6IR
4, % gT dI6IR

Question Number : 166 Question Id : 5038908894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the market where short term and long term government securities are traded.
Options :

1. # Primary Market

2. % Term loans Market

3. ¥ Gilt- edged securities Market

4. ® Mortgages Market

Question Number : 166 Question Id : 5038908894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ig 98 JTOIR § ST81 eI 3R GradbIicid IRBRT Ui Hfad BT HRITR gl o |
Options :

1. % UiYfieh deiR

2. % grafe F01 eI

3.¢ 9§ UfdYfd ST9TR (Gilt- edged securities Market)

4. % §YPH doIR

Question Number : 167 Question Id : 5038908895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reserve Bank of India was nationalized in which of the year?
Options :

1. # 1959

2. ¥ 1949

3. % 1962

4. % 1960

Question Number : 167 Question Id : 5038908895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR RoTd oo 1 APIHRUT b au H T 7 4T
Options :

1. # 1959

2. ¥ 1949

3. % 1962

4. % 1960

Question Number : 168 Question Id : 5038908896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which function is not performed by RBI from the following?

QOptions
r

1. # Note issue
2. % Banker of government
3. ¥ Control over stock exchange

4. ® Custodian of foreign exchange reserves

Question Number : 168 Question Id : 5038908896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad & 9 o a1 ol YR Rord So gr =1 faar srar g2
Options :

1. % Fre gg1 (Frfem)

2. % PR BT dHR

3. ¥ Wi TS TR g0

4. % faq=N g1 YR &1 3fiRE®

Question Number : 169 Question Id : 5038908897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify which statement is not true regarding SEBI act.

Options :

1. ¥ It establishes a nationwide trading facility for all type of securities
2. # It regulates the securities market.

3. # It promotes efficient services by brokers, merchants etc.

4. # Tt protects the interest of the investors

Question Number : 169 Question Id : 5038908897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugg fob Qe AfIRTH & Tay & S 1 HYT I T8 o
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Options :
1« g 9t UeR & ufayfaat 3 for lres ryeardt R gfaur wifid wRar g

2. % gg gfayfd IOk &1 FAafd HRar |
3. % g qard, araiial 3nfe gRT $=I a1si & 9gIaT odl &
4. % gg fAowel & fBdl ot e Har g

Question Number : 170 Question Id : 5038908898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the time of registration of a company MOA mentions the amount of capital a company is authorized to raise from the public. This capital is
known as.

Options :

1. # Issued capital

2. ¥ Authorised capital
3. # Subscribed Capital
4. ® Paid up capital

Question Number : 170 Question Id : 5038908898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a‘ﬁﬁé%ﬂ%ﬂwm%wMOAﬁW@ﬁWWWW%WMW@W%Ws{fﬁﬁ%l‘s’@rm@ﬁ%mﬁw
oildl g7

Options :

1. % ORI guit

2. ¢ 3P goit

3. % Sfftre Yol

4, % gl Gofl

Question Number : 171 Question Id : 5038908899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The shares which are issued to the existing shareholders , without any additional cost are called-
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Options :

1. * Equity shares

2. % Preference shares
3. # Forfeited shares
4. % Bonus shares

Question Number : 171 Question Id : 5038908899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y I BIA B, Sl IAAT 3 YRD! ! fomr fopdt 3ifaRed amTd & SRl fru 9d €, 3 1 S 8-
Options :

1. % S AR

2. % RIYAT WR

3. % ofed AR

4. SIFTE R

Question Number : 172 Question Id : 5038908900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following item of a non-financial company will be classified under Revenue from operations?
1. Sales

2. Interest on loans given

3. Dividend income

4. Revenue from services rendered

Options :

1. % 1,2 and 3 only
2. % 1 only

3.4 1 and 4 only
4. % 2 and 3 only

Question Number : 172 Question Id : 5038908900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
fraferiya & @ ford ot dul & Iare @ Iora & siaifd aiferd fasar s

1. faspt
2. RT MU BT IR O™
3. ATYIRT 31T

4. UeTE &1 1T Ia13fi T o
Options :

1. % Had 1,2 3R 3

2. % $Had |

3.9 %H9d 1 3R 4

4. % Had 2 3R 3

Question Number : 173 Question Id : 5038908901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When two companies join and liquidate to give birth to a new company, that process is known as-
Options :

1. ¥ Absorption

2. % Liquidation

3. % Amalgamation

4. % Corporation

Question Number : 173 Question Id : 5038908901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 HURT TS § IR TP 7S S Bl o7 37 & o8 URGHIA Rl 2, A 39 Uiha &) o1 gl ofrell 8-
Options :

1. % 3{aRNYUT

2. % URIHTA

3. ¢ GHHTA

4. % T
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Question Number : 174 Question Id : SD38908902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s calculated by dividing the net assets value of transferor company by price of one share of transferee company.
Options :

1. ¥ Lumpsum value of purchase consideration

2. ¥ Intrinsic value of purchase consideration

3. % Net payment method of purchase consideration

4. % Net asset method of purchase consideration

Question Number : 174 Question Id : 5038908902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B TUAT S®E SO b U U Bl BT F <TABR AT HUT B Y YUy G b AU Breb b1 ol 2|
Options :

1. % Wi Ufdhd BT UHHId I

2. ¢ TRIG YA B idRS e

3. % Wliq Ufdhd &1 Y Y1 fafdy

4. % TRIG Ufdhd &I Y Tuil i

Question Number : 175 Question Id : 5038908903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The company B takes over the business of company A , the value agreed for various assets is — goodwill Rs. 20,000, land and building Rs.
30,000, plant and machinery Rs. 18,000, stock Rs. 10,000 and Debtor. Rs. 8000. B co. does not take cash but agrees to assume the liabilitiy of
sundry creditor at Rs. 6000. The purchase consideration would be —

Options :

1. # Rs. 90,000
2. ¥ Rs. 80,000
3. # Rs. 78,000
4. % Rs. 82,000
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Question Number : 175 Question Id : SD38908903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HUHI B, U A & HRITR &1 YHTe ¢ | faftrs Fufyal & fore Tend Jed 8- TaaTamT 20,000 T0, YfF 3R Ha 30,000 TUT, T 3R
TRIRY 18,000 TTY, Wi 10,000 TTY, GTGRT 8000 TUY B HE. TH< ol odl &, Al 6000 TUY TR fAay AeR Pt SRt A & g
UEHd BId § I\RIG Uldthd G-

Options :

1. % 90,000 3T
2. ¥ 80,000 3T
3. % 78,000 3T
4. % 82,000 T

Question Number : 176 Question Id : 5038908904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“A refers to a situation where there is the possibility of loss.”
Options :

1. #® Loss

2. ¥ Risk

3. # Uncertainty

4. ® Probability

Question Number : 176 Question Id : 5038908904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

« 39 fUfq P Faffa a1 § 918t TH™ & U g 17
Options :

1. # JhA

2. ¢ SiRgH

3. % JffAfyqar

4. % YTl
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038908905 Question Type : MCQ Option Shuffling : Yes

Orientation : Verti.cal

Correct Marks : 1 Wrong Marks : 0.25
Under which of the following subheads in the balance sheet of a company, goodwill will appear?
Options :

1. #® Tangible assets

2. % Unamortized assets

3. % Current assets

4. ¥ Intangible assets

Question Number : 177 Question Id : 5038908905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HuHl o o vt | FfeRad o 9 fosg Su=id o sidia @Al (FaaTaT) Ueild 8112
Options :

1. % 4o uR&ufty

2. % SR uREuft

3. % e yRIAUf

4.« 3 gfEafa

Question Number : 178 Question Id : 5038908906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to , " An item should be regarded as material if there is a reason to believe that knowledge of it would influence the decision
of an informed investor"

Options :

1. ¥ American Accounting Assosiation

2. # Institute of Chartered Accountant of India

3. # American institute of certified public accountants

4. ® International Accounting Standard Committee
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Question Number : 178 Question Id : 5038908906 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TR, "forelt I B! e HHT ST 1Y IS T8 T BT Pls BRUI | b SHHT I Uh SHBR A & ol ol
TUTIdd BT
Options :
1. ¢ 3{AR®! o Iy
2. % fecye K I1és T3 3Hih Sfgan
3. % YOI Ufetich TR R BT SHRB TRIH
4. % S[RIPTA ol A HfHfd

Question Number : 179 Question Id : 5038908907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select one example of risk which is pure and static from the examples given below-
Options :

1. ¥ Robbery

2. # Investment in stock market

3. # Inflation

4. ® Technological changes

Question Number : 179 Question Id : 5038908907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F few U IereRun & ¥ Sy 7 Uk I<Tevur g o g 3R fRR 31

Options :

1. ¢ Sl

2. % IR IR H a9
3. % EEmifd

4. % -l URad
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Question Number : 180 Question Id : 5038908908 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the objective of risk management?
Options :

1. # Identification of risk

2. # Assessment of risks

3. # Monitoring the risk

4. ¥ Addressing sudden crisis

Question Number : 180 Question Id : 5038908908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafEd & & 1 1 oNEH UaeE BT 350 781 39
Options :

1. ® SIRGH B UgaH

2. % SIRIH BT 3MTeber

3. % SNRgH B AR

4. 3D Yhe DI Heled Bl

Discipline5
Group Number : 10
Group Id : 503890222
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No
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Discipline5
Section Id : 503890349
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890416
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5038908909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The system of laws and guidelines by which business professionals and corporation operate in a fair, legal and moral fashion is-
Options :

1. #® Business practices

2. ® Business principles

3. ¥ Business ethics

4. ® Business policies

Question Number : 181 Question Id : 5038908909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B o R Bl o ez @t gumeh 8 e gRrT araanfie 92aR 3iR fmm fsges, S ok Afds e & o ord 7
Options :

1. % TR B TT3fl

2. % HUR &1 Rigid

3. ¢ IR &1 Afcrad
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4. ® R ifaat

Question Number : 182 Question Id : 5038908910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which act from the following is not covered under business ethics-

Options :

1. ® A buys goods and takes the proper bill from the shopkeeper.

2. ¥ A Purchases goods from a store but does not take the bill from shopkeeper to save the tax.
3. # A gives his 100 percent to his work.

4. % A always pays his income tax on time.

Question Number : 182 Question Id : 5038908910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o9 a1 iy saraaie Afddmdr & sidiid &t ol &-
Options :

1. % A G WS 8 3R R I 3Rrd faa aar 8|

2. ¢ AR Y MM WIadl § A <ol a1 & foll gpaR ¥ fod gl aar g
3. % A 309 BT BT 3UAT 100 U< ST |

4. % A GERI U SR BT YA T TR Rl |

Question Number : 183 Question Id : 5038908911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compute revenue from operations for a banking company from the information given below—
Interest earned Rs.6,20,000, dividend received Rs.62,000, amount received from Sale of building Rs.10,00,000 (book value Rs.6,00,000). Sale of
investment Rs. 50,000 (book value Rs.32,000) refund of income tax Rs. 10,000.

Options :

1. ¥ Rs.7,00,000
2. % Rs.6,82,000
3. % Rs.11,00,000
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4. % Rs.7,10,000

Question Number : 183 Question Id : 5038908911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 718 TFERY T T 9B HU F T F JoRd B VAT B

TSl 6,20,000 TG, ATHIR YT 62,000 TG, Y P1 faisht T UTG 1R 10,00,000 ST (3ifobd T 6,00,000 ST (A= &1 fasht 50,000
FUY (3ifdbd Ted 32,000 T STAHR Dt AT 10,000 ST

Options :

1. ¥ 7,00,000 3GY

2. % 6,82,000 YT

3. % 11,00,000 T4

4. % 7,10,000 TG

Question Number : 184 Question Id : 5038908912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Work ethics do not include

Options :

1. # Discipline

2. ® Cooperation

3. ¥ Adventurism

4. ® Productivity

Question Number : 184 Question Id : 5038908912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B Afddpar & NIIERE ]

Options :
1. % 3RIMAA
2. % g
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3.« JffaaTir

e

Question Number : 185 Question Id : 5038908913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An office having a large room where all the department’s men and equipment are housed under a single roof without partitions. This office is
known as-

Options :

1. ¢ Open office
2. # Private office
3. # Local office

4. ® Regional office

Question Number : 185 Question Id : 5038908913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS BT FGH T 951 HHRT i1 § SIg1 [AHTT b TH HHART 3R USRI {51 fAHTSH & Th g ©d & 1 T8d & | 59 SIad ol
g =g & 57 SIrar 82

Options :

1. ¢ 30 Sy

2. % T wrafed

3. % RFY HEfad
4. % &flg BrIay

Question Number : 186 Question Id : 5038908914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which quality does not apply to a good office manager?
Options :

1. ¥ Competent

2. % Professional
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3. ¥ Emotional
4% Nersatile

Question Number : 186 Question Id : 5038908914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3=y BT Ysyes TR b1 9T 07 AN e} 81l 2
Options :

1. % H&H

2. % URIR

3. ¥ YIIITHD

4. % qgl

Question Number : 187 Question Id : 5038908915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not the function of office management?
Options :

1. # Planning

2. ¥ Social work

3. # Controlling

4. % Staffing

Question Number : 187 Question Id : 5038908915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 o sriad Uey= &1 S/ 181 o7
Options :

1. % o

2. ¢ FES B

3. % fgFo
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4. % T

Question Number : 188 Question Id : 5038908916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
may be defined as any written communication which passes through the messenger, courier or the post office.
Options :
1. % Message
2. % Ideas
3. ¥ Mail
4. ® Report

Question Number : 188 Question Id : 5038908916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& foreit ot foriRea R & =0 & aRYTYd fosa ST bt § Sl HeRidTed, HRAR AT STHER & HTeqH I UgarT offdl g |
Options :
1. ® "ex
2. % fgOR
3. v Od
4. % RO

Question Number : 189 Question Id : 5038908917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which quality in respect of effective communication is harmful?
Options :

1. # Good listener

2. # Confidence

3. ¥ Empathy

4. ¥ Arrogant
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Question Number : 189 Question Id : SD38908917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TUTE IR & Haey T HIF A1 07 §IPRD o-
Options :

1. % 33T Al

2. % 3TAfAY™

3. % FergHfd

4.« AT

Question Number : 190 Question Id : 5038908918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the characteristics of planning?
Options :

1. # Planning is a continuous process

2. ¥ Planning is the last function among the managerial functions
3. % Managers at all levels are involved in planning

4. ® Tt logically precedes all other managerial functions

Question Number : 190 Question Id : 5038908918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad 7 3 HH-0 fFeiem ot faRivdsit § 3 ue T8 8?
Options :

1. % IS U Iad ufshar o

2.  YEYDIT Hrf # e sifom srf &

3. % Pt TR W yeye e d a8 §

4. % U8 dlide ¥ F o gl TeyHIg Sl 9 Ugd oidl &
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Question Number : 191 Question Id : 5038908919 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following techniques of measuring performance is not used by the modern management?
Options :

1. #® Programme evaluation and review technique

2. % Management information system

3. % Break even point analysis

4. ® Return on investment

Question Number : 191 Question Id : 5038908919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HAHH Yedich 3R THIem dh-1dh

2. ® UgY 1 7

3. ¢ AIY-3(cY foig fazawor

4. % frag yfdhd )

Question Number : 192 Question Id : 5038908920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Directing’ is not the function of

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Top level management

2. Middle level management

3. Lower level management

4. Top and Middle level management
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Question Number: 192 Question1d—+-5038908920 Question Type : MCQ Option Shuffling : Yes
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frdem e & 9 g o1l 781 o2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Y TR BT UeY

2. AE0 TR g&eT

3. el TR &1 sy

4. 2 3R Hed TR YaieH

Question Number : 193 Question Id : 5038908921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is that managerial function that enables manager to get things done through persons, both individually and collectively.
Options :
1. # Planning
2. ¥ Directing
3. % Controlling
4. % Coordinating

Question Number : 193 Question Id : 5038908921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I8 U Ig B § Sl YU P Afaaid 3R Iifed &0 F Afaqd & A1e0H I S &1 guf H3- J Tl S 8 |
Options :
1. % o
2. ¢ FdEA
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3. % fqg=m

4 e TLL2]

Question Number : 194 Question Id : 5038908922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Job analysis, job description, job enrichment are some of the important basic concept of
Options :

1. # Controlling

2. % Directing

3. ¥ Staffing

4. ® Planning

Question Number : 194 Question Id : 5038908922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fgEor

2. % deM

3. ¢ (I

4. % o

Question Number : 195 Question Id : 5038908923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of dimnishing balance method of depreciation?
Options :

1. #® Book value of asset can never be reduced to 0

2. % It is permissible under income tax act

3. % Itis easy and simple to calculate
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4. ¥ Original cost of asset is shown in thf balance sheet

Question Number : 195 Question Id : 5038908923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafid & @ S Joug™ &1 gIIA Jga [afd &1 faRivar 781 82
Options :

1. % Juft B g deg B Bt 0 T HH T fopan ST qha ©

2. % IR HAFTH & ded 3P 3IAN §

3. % TUMT HAT 3 3R WA §

4. Tufy ®) qa dNTd g o ¥ farg it 8

Question Number : 196 Question Id : 5038908924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who defined contract as ‘every agreement and promise enforceable by law is a contract’.
Options :

1. # Salmond

2. % Fedrick Pollock

3. # William Anson

4. % L.H. Henry

Question Number : 196 Question Id : 5038908924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® JIaHs

2. ¢ Bigd Uididh

3. % fafergq woH

4. % TATT g


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Question Number : 197 Question Id : SD38908925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the correct result from the following for the case given here-

A invites B to dinner, B accepts the invitation but he fails to turn up.
Options :

1. ® A sue B for the damages.

2. % A can not sue B as it is not contract enforced by law.

3. # A enforces B to pay money for damage.

4. % Can't be determined

Question Number : 197 Question Id : 5038908925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BoIi- & 4 A GRT B IR HGHT|

2. ¢ A, B TR & T8l $R Tdhdl Rifh 9§ BT gRT AN I8 a1 g
3. % A &ffa o g U &1 YFITa $=A & o B B1 HoleR el ol

4. % Tyffed =7aY favar o wdar

Question Number : 198 Question Id : 5038908926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“A contract in which only one party has still to fulfill his obligation, while the other party has already fulfilled his own at time of the formation of
contract itself.” Is known as-

Options :
1. % Unilateral contracts

2. % Bilateral contracts
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3. ¥ Valid contract
4 % \/oid contract

Question Number : 198 Question Id : 5038908926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ THRBI Y
2. % fgUeita srqay
3. % qY ey

4. % Y IIY

Question Number : 199 Question Id : 5038908927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Rebate on a bill shows that-

Options :

1. ¥ It has been paid before the date of maturity
2. % It has been paid after the date of maturity
3. # It has been paid on the date of maturity

4. % Tt has been dishonoured

Question Number : 199 Question Id : 5038908927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreh foe IR e exifd & -

Options :

1. ¥ BT YA URUSAl B! dRIE 9 Ugad fhar T g
2. % T YA URUSHl Bt dRIG & §1¢ fohar a1 |
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Question Number : 200 Question Id : 5038908928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A/an is a stipulation collateral to the main purpose of the contract of sale of goods.

Options :

1. #® Contract

2. ¥ Warranty

3. # Implied condition
4. ® Agreement

Question Number : 200 Question Id : 5038908928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT B! b & 3y & T 3= & folE U HUTHb Wct 5 |

Options :
1. % 3gdY
2. ¥ ARl
3. % Ffgawd
4. % U
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Break time : 0

Group Marks : 20
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Discipline6
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Section Number : 1

Section type : Online
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Number of Questions : 20
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890417

Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 5038908929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which condition is NOT applicable to unpaid seller?

Options :

1. #® The goods have been sold and the price must be due.

2. ® The full price has not yet been paid.

3. ¥ Cheque received as the price of goods sold and it has been cleared.

4. ® Bills of exchange was received against the payment of goods sold, but the same has been dishonored.

Question Number : 201 Question Id : 5038908929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad 7 3 o1 A 2rd srdafe fashar )R ] 81 gl 82
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Options :
| % T §<1 741 2 3R $iAd ¢ gl HIfgu|

2. % 3ft I O ST &1 YITaH el [baT T B |
3. ¢ S T AT & B & =4 J U 9% 3R I8 9 [GaaR 81 T g |
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Question Number : 202 Question Id : 5038908930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is right of an unpaid seller?
1. Right of lien

2. Right of stoppage of goods

3. Right of resale

Options :

1. # 1 and2 only
2. % 2and 3 only
3. % 1 and 3 only
4.% 1,2and 3

Question Number : 202 Question Id : 5038908930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3ddep faehdT T I T TIBR 82

1. TEUMIBR BT DR
2. HId B b BT STBR

3. Al d BT ABR

Options :

|. % Hhad 1 3R 2
2. % HaA2 3R 3
3. % PHad | 3R 3
4.4 1,233
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Question Number : 203 Question Id : 5038908931 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following will be shown as Trade Receivables under current assets in the balance sheet?
Options :

1. # Short term investment

2. #% Goods in transit

3. % Sundry Debtors

4. # Checks and drafts in hand

Question Number : 203 Question Id : 5038908931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed 8§ 3 fa soiw e & are Jufi & d8d SR Wid & U & fearan smem?
Options :

1. % 3fcUpIiereh HdwT

2. % 3fftaeT H A

3. ¢ fafdy g eR

4. % IP AR I Y (A 3R STUC 3 3TS)

Question Number : 204 Question Id : 5038908932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The basic role of marketing is to have the right products or services in the right quantity at the
Options :

1. # Right market

2. # Right time

3. % Right place

4. ¥ Right time and place

Question Number : 204 Question Id : 5038908932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
fauue Y e fPreT el Jeure) o Vi ) Tt A TG g

Options :

1. % gl deIR

2. % ggl gHg

3. % gl W1

4. ¥ &I Y 3R I

Question Number : 205 Question Id : 5038908933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The fundamental purpose for the existence of any organization is described by its
Options :

1. #® Policies

2. % Procedures

3. ¥ Mission

4. ® Strategy

Question Number : 205 Question Id : 5038908933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % “ffcrai

2. ® yfhamy

3. ¢ foRM

4. % UM

Question Number : 206 Question Id : 5038908934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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What does SWOT stand for?
Options :

1. # Special weapons for optimization and transport
2. # Services worldwide optimization and transport
3. # Strengths worldwide overcome threats

4. ¥ Strengths weakness opportunity and threats

Question Number : 206 Question Id : 5038908934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWOT &1 T 372 g7

Options :

1. % WA qU=~4 BR HPAZSRE TS ThRuic
2. % iy geadrzs HMPAZIRH US SiRyue
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4. ¥ LY b9 TTHFCT T Iy

Question Number : 207 Question Id : 5038908935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a major element of the strategic management process?
Options :

1. # Strategy formulation

2. % Strategy implementation

3. ¥ Assigning administrative tasks

4. ® Strategy evaluation

Question Number : 207 Question Id : 5038908935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 208 Question Id : 5038908936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A country has a in producing a good if the opportunity cost of producing a good is lower at home than in the other country.
Options :

1. ® Profit

2. % Loss

3. ¥ Comparative advantage

4. ® Comparative disadvantage

Question Number : 208 Question Id : 5038908936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Y

2. % g

3. ¢ JATHSD Y

4. & JATIHD JhH

Question Number : 209 Question Id : 5038908937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Heckscher — ohlin model is principally focused on what aspect of economics?
Options :

1. ¥ International Trade
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2. % Internal Trade

3% Demandand supnly
rr J

4. ® Comparative advantages

Question Number : 209 Question Id : 5038908937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Heckscher - ohlin ATSd HY =4 T 3z & ford UgqUR Hfaag

Options :

Question Number : 210 Question Id : 5038908938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following items should be included in Current Liabilities while calculating current ratio?
Options :

1. ¥ Bank loan

2. ¥ Bank overdraft

3. % Goodwill

4. # Loan on mortgage

Question Number : 210 Question Id : 5038908938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS SUT 1 T Hrdl T FEfaRad & § ®F-3 e &I are qadrsit & wnfire fasar s anfgee
Options :

1. % da B

2. ¢ I HIRIUE
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3. % WIfd

4% qje[cp T 3EI0

Question Number : 211 Question Id : 5038908939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true in regard to the reason behind the necessity of International trade for all the countries?
Options :

1. #® The countries have comparative advantage to produce the goods at opportunity cost to other countries.

2. % Resources are not allocated equally to all the countries.

3. # Trade enhances flow of fund through accumulated profits.

4. ¥ International trade is cheaper than internal trade.

Question Number : 211 Question Id : 5038908939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g} &= & 1T SIS TR &t siraRashdl ey H MAfeRad § 8 oI 91 HU 9 a1 52
Options :

1. % 3T RN P AR ARG IR AW BT TG DR o 10T <=1 I Je-edd Yy gidl 6|
2. % Tareq 9t <RI D IHH ¥ ¥ 1dfed 81 fhy S g |

3. % IR GfId oY & A1egd § Y & Udig & 9grar gl

4. ¢ SRIPT TR 3MidReb HTUR J T ¢ |

Question Number : 212 Question Id : 5038908940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Considering the huge risk of non- payment by importers in International trade, the exporters needs to minimize the risk.
Options :

1. # Bill of exchange

2. ¥ Letter of credit

3. % Bill of lading
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4. ® Bill of entry

GET IT ON

Google Play

Question Number : 212 Question Id : 5038908940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

RIS ATUR H SHTATD! GRT YT 7 B & HRY SIRGH D & H 3@ d §U, e &1 SiRkaH bl HH B & foQ Cdl

IS gl g |
Options :

1. % AT oy
2. ¢ IR-UA

3. ¥ dgEUA

4. % MU

Question Number : 213 Question Id : 5038908941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The accumulated loss in case of partnership is—

Options :

1. #® Debit balance of partner’s capital account.

2. # Credit balance of profit and loss account.

3. ¥ Losses which are not debited to partner’s capital account.

4. ® Losses which are not credited to partner’s capital account.

Question Number : 213 Question Id : 5038908941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

el ot fufa A dfea g s g2

Options :

1. % WIRIGR & Yoh @Id &I Sfae daid|

2. % G 3R 81 WA &1 hige da4|

3. ¢ JHYH Ol 9EIeR & Yol @ld ¥ 3fde e fpumu |



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

4. % JHYF S AgeR & Yoil W & SHT 81 sid 8 |

Question Number : 214 Question Id : 5038908942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify which statement is incorrect according to partnership act 19327

Options :

1. ® A minor can be admitted as a partner in the firm

2. ¥ A partner can be admitted without consent of all other partners

3. # The incoming partner has to bring the amount of capital along with the amount of goodwill

4. ® When a partner is admitted , the assets and liabilities are revalued

Question Number : 214 Question Id : 5038908942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T HYF IRt AT 1932 F TR Tad 82

Options :

1. % 3fGU% &I BH H AR & =0 H Jaw far ST Gl 8

2. ¢ & URER &I 30 Ht Uid=R &) Tgufa & foe1 WieR forar 51 9l g

3. % 3 9T WIIGR B BT P R & 1 Yool ot AR o At grft

4. % S§ Uh HFIGR ) Hell BT oI &, @l Hufty 3R SeTRal &1 Y edich fohdr Sirdl §

Question Number : 215 Question Id : 5038908943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A provision is:

Options :

1. ® An appropriation out of profit

2. % Charge against the profit

3. # Charge against the liabilities

4. ® An appropriation out of sale of assets
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Question Number : 215 Question Id : SD38908943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS UG &

Options :

1. % @Y P fafgeq

2. AIH R 3Rl 3

3. % FUR 3ffold g

4. % FuRi ot 9! &1 gH™IeH

Question Number : 216 Question Id : 5038908944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Herzberg identified a factor which exists within the job and provides job satisfaction at the time of performing the job. Which is this factor
among the alternatives given?

Options :

1. ¢ Intrinsic factors

2. ® Extrinsic factors
3. # Personnel factors

4. ® Hygiene factors

Question Number : 216 Question Id : 5038908944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS - Uh U HRP DI Tgd &1 ol AIhel o HidR HISlE & SR Al o UaRH & 99T A1 3 TS UaH ol 5| fau T fawed &
g RS HIH-IT 82

Options :

1. ¢ AR PRB

2. % 963 PRSP

3. % BIHb PRD

4. % G dl PRD
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Ouestion Numbay o 217 ancf:nn Id -

D

38908945 Question Type : MCQ Option Shuffling : Yes

Yo T Y a o Tr — T CTITUTI U

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not the basic feature of primary capital market ?

Options :

1. ® It facilitates issuance of new securities.

2. % It is not the name of any particular place but the activity of bringing in new issues
3. ¥ It creates liquidity for investors.

4. ® Tt has various methods of raising capital including Offer for sale

Question Number : 217 Question Id : 5038908945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad o @ o T urufiie Yol aToiR @) gt faidr 78t 82

Options :

1. % g 93 Ufqufal 1 TR = & YAy UeH Bl |

2. % Yg fordll RIT fIRW &7 AT 81 dfceh TU ufeayferdi bl SRkt 63 o1 wicifafe &
3. ¢ g (a=I! & oI TR s 6|

4. * 3O¥ facha & foe g Iy ol gem 3 fafte adids €

Question Number : 218 Question Id : 5038908946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Genetic industries and Extractive industries are example of:
Options :

1. ¥ Both are Primary industries

2. ® Both are Secondary industries

3. # Both are Tertiary industries

4. ® Genetic is primary and extractive is tertiary industry
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Question Number : 218 Question Id : 5038908946 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR E0T ITNT 3R SHHS IYNT fhd & IGERUI 82
Options :

1. ¢ Sl g1 uTufie e |

2. % g g HTeafiie N1 8

3. % QI 81 qdiae JENT 8

4. % SRS Uit 3R Fspyor gdtae Ien R

Question Number : 219 Question Id : 5038908947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cash cycle means—

Options :

1. ¥ The Time taken between cash disbursement and cash collection.

2. % The Time taken between collection of payment and re- disbursement.
3. # The Time taken between purchase of assets and sale assets.

4. ® The Time taken between sales and purchase of goods.

Question Number : 219 Question Id : 5038908947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 o 9 T 9% P13 §-

Options :

1. ¢ ¢ AfAdR0T SR dha U & sid e arall 99|
2. % YA & TUEUT 3R AR & &I T arall o |
3. % Fuil & Wie MR fasp! Tufy & ot &1 99|

4. % OA &1 WG 3R ot &1 w3

Question Number : 220 Question Id : 5038908948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
What is the maotive behind the cash held fbr meeting unexpected needs of cash cycle?

Options :

1. # Speculative motive
2. ¥ Precautionary motive
3. # Transaction motive

4. ® Saving motive

Question Number : 220 Question Id : 5038908948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIGd H ¥ STATRIT TEal Bl G B & fo1T Adh T Al b dsh o Uley T I5¥4 62
Options :

1. % §g B3

2. ¥ TGIaaTdt &1 Ie=d

3. % UG BT 3™

4. % §Id BT I

Discipline7
Group Number : 12
Group Id : 503890224
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No
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Discipline7
Sectiomrtd— 503890351
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890418
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 5038908949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Return on Assets is Defined as?

Options :

1. # Net Income / Current Assets

2. % Net Income / Fixed Assets

3. ¥ Net Income / Average total Assets

4. # Net Income /(Current Asset + Fixed Asset)

Question Number : 221 Question Id : 5038908949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & ufawhet (ROA) &Y URHTG fbar a1 8-
Options :

1. % Y[ 31/ AT UREUfT

2. % g 31/ RR gfEuf

3. ¢ (G 3T/ 1 3iad R

4. % g 31 / (AT URIURT + RRR ufduf )
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Question Number : 222 Question Id : SD38908950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Subscription received in advance by any non-profit organization are shown -
Options :

1. # on the credit side of the income and expenditure account

2. % on the asset side of balance sheet

3. ¥ on the liabilities side of balance sheet

4. # on the debit side of income and expenditure account

Question Number : 222 Question Id : 5038908950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et off AR T gRT S =0 | U T (Feufeh ) B fearan ST | -
Options :

1. % 31T 3R T WId & hisc U4 R

2. % g 2fie & ufufy ue R

3. o0 =i &SGRl o uel |

4. % 3T R T WId & Sfac G& |

Question Number : 223 Question Id : 5038908951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statutory authority regulates the money and credit supply of commercial banking and controls foreign exchange operations?
Options :

1. ® Bureau of public enterprises

2. ¥ Reserve bank of India

3. # Bureau of industrial cost & prices

4. ® The MRTP commission

Question Number : 223 Question Id : 5038908951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g B Q B 91 duTe WiRieRor e SR 0T myfed Ao Sfdh SR fa=ht gat Teme &) fifia axar g2
Options :

1. # Adei-e STH & SR

2. ¢ YR Rord 9

3. % 3fNE AT 3R BIHa! BT &y

4. % TR HARE

Question Number : 224 Question Id : 5038908952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This act for protection of environment covers not only land, water, air and noise pollution but also the use of hazardous substances like chemicals
etc. It is—

Options :

1. #® Prevention and control of pollution Act — 1881
2. % Prevention and controls of pollution Act — 1974
3. ¥ Environment (Protection) Act — 1986

4. ® Prevention and control of pollution Act — 1992

Question Number : 224 Question Id : 5038908952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mﬁw&n%msﬂeﬁﬁmﬁqmﬂ@,w,maﬁ?wﬁwq% GARATD TGTdT oIkt XTI 31fG o1 SuanT Ht 2nfira
| I8 B-

Options :

1. % Jgyuy farRur 3R a0 sifdfaad - 1881

2. % YgHU B AHUM R =01 iffem - 1974

3. ¢ TTaRUT (TRET0T) SATTH - 1986

4. % Ygqu fAaRUT SR =0 T - 1992
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Question Number : 225 Question Id : 5038908953 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State which of the following is not a current asset?
Options :

1. #® Cash

2. % Stock

3. ¥ Office furniture

4. ® Debtors

Question Number : 225 Question Id : 5038908953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SWRIFT H Y DI Al A1 gREURT 81 § 2
Options :

1. ® qoq

2. % gfaar

3. ¢ BRI BelaR

4. % ¢IGR

Question Number : 226 Question Id : 5038908954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are example/s of Auxiliary to trade?
1. Advertisement

2. Insurance

3. Banking

4. Intermediaries

Options :

1. # 1,2 and 4 only
2. % 4 only

3. % 1,2 and 3 only
4.%1,2,3and 4
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038908954 Question Type : MCQ Option Shuffling : Yes

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRed # § F-T1A TR & JeTId BT 3aex 6/8?
1. famo=

2. ST

3. dfde

4. foferd

Options :

1. % %I 1,2 3R 4

2. % $Hdd 4

3. % Had 1,2 3R 3

4.941,2,33R4

Question Number : 227 Question Id : 5038908955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term refers to economic activities, which are connected with conversion of resource into useful goods or to mean the group of firms
producing the similar goods.

Options :

1. ¢ Industry
2. % Commerce
3. # Trade

4. ¥ Business

Question Number : 227 Question Id : 5038908955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BRI e fafafda &1 Tehia Hrdr &, S duee & STanT avgsil & Saa a1 THH aXgsi &1 SdTGT B are BHl &
e J Gefd 8,

Options :
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Question Number : 228 Question Id : 5038908956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following activities is not the economic activity?
Options :

1. ¢ Farmers growing rice for his own consumption.

2. #® A factory owner producing school bags for sale in market.
3. # A maid serves at home in return of money.

4. ® A teacher teaches in the school and gets salary.

Question Number : 228 Question Id : 5038908956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 A Q o It wfafafy snfdfes wfafafy €t 82

Options :

1. ¢ B 30 WY & IUHNT & o <rad I 1

2. % Udh HRWM & HIfeldh BT SToR | el o o Th et o &1 STG BT
3. % U A U & 9al TR TR B H3al g |

4. % TS e Wl B UGl & 3R a1 Urdl &

Question Number : 229 Question Id : 5038908957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was called the ‘Black Gold’ in the Roman Empire?
Options :

1. ¥ Black pepper
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2. % Coal
3 % Jron

4. % Clove

Question Number : 229 Question Id : 5038908957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT I | 'hTa] AT fod BT SIrar U1
Options :

1. ¢ ST i
2. % HIgAm
3. % Qg

4. % @

Question Number : 230 Question Id : 5038908958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All those activities which are concerned with the extraction and production of natural resources and reproduction and development of living
organism, plants etc. come under -------- .

Options :

1. # Extractive Industry

2. ¥ Primary Industry

3. # Secondary Industry

4. % Manufacturing Industry

Question Number : 230 Question Id : 5038908958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 gt fafafat S Ui fae Tares & Feseur SR Idre SR Shfad Siial, Tl anfe & uome ok faer § Taftd §, A 3 @ fras
3ieia 3Tt 82

Options :

1. % fasmeor I
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2.« TS I
3% Tefies I

4. * R gan

Question Number : 231 Question Id : 5038908959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amendment was made in Hindu succession Act. That the daughter of coparcener of a joint Hindu family shall by birth become a coparcener.
When this amendment was made?

Options :
1. % 2008
2. % 2007
3. % 2005
4. % 2017

Question Number : 231 Question Id : 5038908959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feg STRIRGR iffom & g8 T=ne forg v & fasa 1 o fos dged fewg, uRaR & Wgaiflis & Tl o ¥ 9gaiiied st
Options :

1. % 2008

2. % 2007

3. % 2005

4. % 2017

Question Number : 232 Question Id : 5038908960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which form of Business Organization has the following characteristics ?
1) The business is carried by the members of the family.

2) The eldest person carries the business for all.
3) The membership of business is on the basis of birth.

Options :
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# Sole tradership
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# Joint Stock company

> w

# Partnership firm

Question Number : 232 Question Id : 5038908960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS T3 & fobg 70 H fAgfefad fagvan & -
1) URAR & Ge=l gRT faa1 S arell a9 |

2) 99 981 ufad gt & fore saaamg s g
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Options :

1. % Uhdl WIHd

2. ¢ g fgg uRaR

3. % I Kb Dyl

4. % PR BH

Question Number : 233 Question Id : 5038908961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State which of the following statements about a private company is not true?

Options :

1. ¥ Has a minimum 2 and maximum 50 members excluding the past and present employers.
2. % Does not invite public to subscribe to its securities.

3. # Restricts the right of members to transfer its shares.

4. ® Tt is necessary to use the word private limited at the end of its name.

Question Number : 233 Question Id : 5038908961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 234 Question Id : 5038908962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The signing of which agreement ended seven years negotiations and created the new World Trade Organization?
Options :

1. # NAFTA

2. ¥ GATT

3. ®¥ EFTA

4. ® EEC

Question Number : 234 Question Id : 5038908962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 9I%CT (NAFTA)

2. ¢ TT (GATT)

3. % SUGCU (EFTA)

4. % 33V (EEC)

Question Number : 235 Question Id : 5038908963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
suggested that an appropriate balance should be maintained between centralisation and decentralisation of authority.
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Options :
1. ¥ Henri Favol

2. % FW Taylor
3. # Elton Mayo
4. ® Henry Ford

Question Number : 235 Question Id : 5038908963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ R had

2. % U S& CTR

3. % YeeA Bl

4. % g BIS

Question Number : 236 Question Id : 5038908964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State which of the following statements is not true about marketing?

Options :

1. ¥ Middleman is not necessary for buying and selling of goods and services.
2. ¥ Advertising is not necessary for selling the product.

3. # Market does not force fashion changes.

4. ® The primary objective of market is to allocate all the resources efficiently.

Question Number : 236 Question Id : 5038908964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 237 Question Id : 5038908965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following marketing concept matches the organizational objective,* Produce what consumer needs’?
Options :

1. #® Product Concept

2. % Production Concept

3. % Marketing Concept

4. ® Selling Concept

Question Number : 237 Question Id : 5038908965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Jdlq YR

2. % JdIq YR

3. ¢ {AUU 3rayRUM

4. % §9 B SGYRON

Question Number : 238 Question Id : 5038908966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In order to check the onslaught on consumers by selllers, Standards of Weights and Measures Act, was enacted.

Options :
1. % 1946
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2.9 1956
3 % 1066

4. % 1979

Question Number : 238 Question Id : 5038908966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 1946

2.9 1956

3. ® 1966

4. % 1979

Question Number : 239 Question Id : 5038908967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Monopolies & Restrictive Trade Practices Act, 1969 is defined as-------
Options :

1. % it is the act to stop any trade practices that may have the effect of preventing, distorting or restricting competition or which causes loss for
consumers.

2. % it is the act that provides for establishing uniform standards of weights and measures to regulate trade in weights, and other goods which
are sold or distributed.

3. # “Itis the act to protect consumers forms ill effects of adulterated food, the un- essential and wrong medicines etc.”

4. ¥ No such act exists

Question Number : 239 Question Id : 5038908967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THIUSR 3R UfdeeTdD SUR SAdeR AT, 1969 1 f6g = & uluiivd fear mar g2
Options :

1. ¢ g fdt ot TR guTaf &1 A 1 B g S Uiy dY e, fadd S a1 Ufaifeid B &1 UG 81 9ol @ a1 o SUHIarsil


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

& oY JHIH BT HRUTSAAT & | "

R ! fafafird s & foru a1et 3R SUr & JHM AT a3 3=y g S s=r a1 faafa fasu

ST 2 G I 3 T TG el 3
3. % g IUHIEITS] B et HioH, TR-ATTIH 3R TTAd Tl e & gHHd I SaH BT HR g 1"
4. % THT DI AFTH AE 781 §

Question Number : 240 Question Id : 5038908968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the measures adopted by government to fulfill the objective of Globalisation?
Options :

1. # reduction in custom duties

2. % removal of quantitative restrictions

3. ¢ eliminating foreign investment

4. ® encouragement of foreign technology

Question Number : 240 Question Id : 5038908968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 241 Question Id : 5038908969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most effective medium for outreaching product information to housewives in rural areas —
Options :

1. #® e - commerce websites

2. #® Professional magazines

3. ¥ Radio or Television

4. ¥ Social media
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Question Number : 241 Question Id : 5038908969 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3B dauTse

2. % gy gASBIY

3. ¢ &1 1 Tetfae

4. % graTiores Hifgan

Question Number : 242 Question Id : 5038908970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a basis of classification of Psychological tests?
Options :

1. #® language

2. % mode of administration

3. % difficulty level

4. ¥ candidate's social background

Question Number : 242 Question Id : 5038908970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Y197
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3. % PR TR
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Question Number : 243 Question Id : 5038908971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Which of the following parties is not onelof them who are interested in financial analysis of a compank?

J

Options :

1. ®¥ Management
2. % Creditors

3. ¥ Debtors

4. % Government

Question Number : 243 Question Id : 5038908971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gdy

2. % WER

3. ¥ GIGR

4, % PR

Question Number : 244 Question Id : 5038908972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s the highest level of need in the Maslow’s Need Hierarchy Theory of Motivation.
Options :

1. #® Safety needs

2. % Belongingness need

3. ¥ Self actualization need

4. ® Prestige need

Question Number : 244 Question Id : 5038908972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 245 Question Id : 5038908973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who coined the principle of "Science not rule of thumb"?

Options :

1. # Marshal’s theory of need
2. ¥ FW Taylor

3. % Robert’s theory

4. # Ricardo’s theory

Question Number : 245 Question Id : 5038908973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 246 Question Id : 5038908974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In cash credit arrangement, interest is charged on:
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Options :

2. % approved limit of cash credit
3. # approved limit of cash credit - amount withdrawn

4. ® interest is not charged under this arrangement

Question Number : 246 Question Id : 5038908974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 247 Question Id : 5038908975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the techniques used to study the relationship between costs, volume and profits.
Options :
1. ® Personal Observation
2. ¥ Break even analysis
3. # Budgetary control
4. ® Ratio analysis

Question Number : 247 Question Id : 5038908975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 248 Question Id : 5038908976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the guideline for decision and action on the part of subordinates to achieve the desired goals with the available resources.
Options :
1. # Business Procedure
2. ¥ Business Policy
3. # Business Strategies

4. ¥ Business Actions

Question Number : 248 Question Id : 5038908976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % UR Yfshdl
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Question Number : 249 Question Id : 5038908977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series of functions or steps performed to accomplish a specific task to achieve the objectives of the business is termed as
Options :

1. ® Policy
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2. # Programme
3_# Ryles

4. % Procedure

Question Number : 249 Question Id : 5038908977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 250 Question Id : 5038908978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider some important economic policies. Mark the correct one.
1. Industrial policy

2. Fiscal policy

3. Monetary policy

Options :

1. % 1 only

2. % 2 and 3 only
3. % 1 and 3 only
4.%1,2and3

Question Number : 250 Question Id : 5038908978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % Had 2 3R 3
3. % g 1 3R 3
4.9 1,233

Question Number : 251 Question Id : 5038908979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An external approach to expansion involving two or more than two organizations combined together to form a new larger company, with mutual
consent and common goals. This approach is defined as-

Options :

1. ¥ Merger

2. ® Acquisition

3. # Strategic alliance
4. ¥ Make over

Question Number : 251 Question Id : 5038908979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR & fore ues a1} eDewiv orad 1 a1 1 ¥ 3ifties Tre- &) T 1Y ez ot ggafa Sik I edl & 1Y U gt )
HU R ST B, 39 DD oI frad aRyig fasan man |2

Options :

1. ¢ faem

2. % 3G

3. % UMD T
4. % P 3R

Question Number : 252 Question Id : 5038908980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
What are the determinants of demand of dny product ?

1. Income of the consumers.

2. The price of related goods.

3. Number of consumers in the market.
4. Attitude of consumers.

Options :

1. % 1 & 3 only
2. % 2 & 3 only
3. % 3 & 4 only
4.941.,2.3&4

GET IT ON
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Question Number : 252 Question Id : 5038908980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1 3R 3
2. % Had 2 3R 3
3. % PHad 3 3R 4
4.9 1,2,33R4

Question Number : 253 Question Id : 5038908981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What would be the effect on the automobile market, if the prices of gasoline rises?
Options :

1. # The higher price of gasoline, increase the total number of miles individual tended to drive.
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2. % Smaller and more fuel — efficient cafs become more attractive relative to big cars.

3 % The highpr prir‘P of gqqn]inP will indrease sale of automobiles

4. ® No any effect on automobile market with the rise in price of gasoline.

Question Number : 253 Question Id : 5038908981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 254 Question Id : 5038908982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
elasticity of demand measures the responsiveness of the quantity sold to changes in the product’s price.
Options :
1. ¥ Product
2. # Supply
3. ¥ Price

4. ® Income

Question Number : 254 Question Id : 5038908982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 3dIq

2. % JMYfd
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3. ¢ HiAd

e

Question Number : 255 Question Id : 5038908983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price and total revenue move in direction in elastic demand.
Options :

1. % Same

2. ¥ Opposite

3. # No effect

4. ® They are not related

Question Number : 255 Question Id : 5038908983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 256 Question Id : 5038908984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following techniques of scientific management is defined in the statement - management should find one best way to perform a
task?

Options :

1. ® Motion Study
2. ® Time Study
3. ¥ Method Study
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4. ® Fatigue Study

Question Number : 256 Question Id : 5038908984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT YeeE &1 FEfRad B 4 & W aob-ie 39 HU T URUING § - Teee S [t B o B3 BT Gad 35T aies] Aol ANgu?
Options :

1. % T SfeHg

2. % JgHY T

3. ¢ fafd sreme

4. ® YPpd AT

Question Number : 257 Question Id : 5038908985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one from the following statements is not the characteristics of monopoly ?
Options :

1. ¥ Large number of sellers

2. % Lack of Perfect Knowledge

3. # Prohibited entry and exit

4. # No close substitute of product

Question Number : 257 Question Id : 5038908985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e HU= § I DH-91 THIIDR &I (9=l ol 62
Options :

1. ¢ fachdaf o a1 T

2. % UL I Bt BT

3. % Pl vawr ok Fere

4. % I P DIg Hel fddbey g1
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Question Number : 258 Question Id : SD38908986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Super normal profit is earned:

Options :

1. ¥ When prices are lower than the marginal cost.
2. % When prices are higher than the marginal cost.
3. % When marginal cost is equal to price of product.

4. % When total revenue is equal to total cost

Question Number : 258 Question Id : 5038908986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3f IR A4 S 3ifld fmar Sirar g2
Options :

1. % 99 S i a1 HH gl o

2. ¢ OF DIFd S dTd F 3ifeew gt B |

3. % 9 A ANTd IUTG DI HIAd b SRR 81|
4. % §d $o JoRd $dl AN & SRISR

Question Number : 259 Question Id : 5038908987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is known as the 'Father of Scientific Management'?
Options :

1. ¥ F W Taylor

2. % Henri Fayol

3. # Elton Mayo

4. ® Henry Ford

Question Number : 259 Question Id : 5038908987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

QYD YT b S’ & =Y H fobdl ST STl 22
Options :

1. ¥ T S& e’

2. % I Bad

3. % Yood Al

4. % TR Bl

Question Number : 260 Question Id : 5038908988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The relationship that exists between average in a moderately skewed distribution (mode) = 3(median) — 2(mean) is called:
Options :

1. # Ethical Relationship

2. ¥ Empirical Relationship

3. % Extreme Relationship

4. ® Group Relationship

Question Number : 260 Question Id : 5038908988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tegd vy fIarur (Jis) = 3@ - 2\ned), § 3N9d & g Hisle J&e &1 o1 Hel Sial 8|
Options :

1. % Afde Ay

2. ¢ JJHAST Iy

3. % RAYSY

4. % qUg dqdY

Discipline9
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Question Number : 261 Question Id : 5038908989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The integral part of a common logarithm is called
Options :

1. ® Mantissa

2. % Anti — logarithm

3. ¥ Characteristics

4. % Geometric
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Th AT AYIUTh &b ST 3T I
Options :

1. % 3[qurter

2. % Yo

3. ¢ QUITS (PRaeRRea)

4. % SIHAT
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38908989 Question Type : MCQ Option Shuffling : Yes

CIIRCII|

Question Number : 262 Question Id : 5038908990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The concept of Standard Deviation was coined by:

Options :

1. ® Croxton and Cowden
2. ¥ Karl Pearson

3. % Raphael Weldon

4. % AL Bowley

Question Number : 262 Question Id : 5038908990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A faae P @yRu FREARIER]

Options :

1. % pigge 3R Br3o
2. BT oA

3. % % dee

4. % TUA I3


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Question Number : 263 Question Id : 5038908991 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who said that " goodwill is nothing more than the probability that the old customers will resort to the old place"?
Options :

1. #® Lord Lindley

2. ¥ Lord Eldon

3. # Spicer

4. ® Spicer and Pegler

Question Number : 263 Question Id : 5038908991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem FgT foh "gTaHT $9 JUTEHT I 1G] $© -6l § 19 QR AT JRIHT o TR RATUd g "2
Options :

1. % drs fofsd

2. ¥ IS Tes

3. % Wi

4, % TTFER 3R TR

Question Number : 264 Question Id : 5038908992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct provision for interest of partner's loan in absence of partnership deed?
Options :

1. # interest is not paid

2. # interest is paid at the rate of 6%p.a. only if there is a profit

3. ¥ interest is paid at the rate of 6%p.a. even if there is a loss

4. ® Interest is paid at the rate of 10% p.a. even if there is a loss

Question Number : 264 Question Id : 5038908992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

UERRY € & 3iurg & UrdaR & Bulle <aTel & fore Rgferiad & ¥ &9 91 grau™ 9l 22

Options :

1. % SIS T YT e} fohar ST 8

2. % 6% Ufd I8 B R I TS BT YA {601 J1d1 8 | Had afe F& v &l
3. ¢ B B IR 4t 6% U 98 &1 &x I TS BT YA (T STl & |

4. % A A W ot 10% Ufd I8 Bt &R ST BT YT fohal ST 5 |

Question Number : 265 Question Id : 5038908993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The plays a vital role to make available all the goods and services produced in the market for the consumers according to their needs
and demands.

Options :

1. #® Suppliers

2. % Producers

3. ¥ Intermediaries
4. ® Stockist

Question Number : 265 Question Id : 5038908993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Bl I SRl SR A b SHR IO & Idifad G axgsil 3R Jarsfi & Iuasd HH o fog TS Hgadqui
YftresT AT ]

Options :

1. % 3yl

2. % fmfan

3. ¢ fodiferg

4. % Wb

Question Number : 266 Question Id : 5038908994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Under which macro environment the mattketing manager has to study the following trends.

1. Trends in gross national product and real income growth.
2. Pattern of income and distribution.
Choose the correct answer.

Options :

1. # Physical environment

2. ¥ Economic environment

3. % Political legal environment

4. ¥ Social environment

Question Number : 266 Question Id : 5038908994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3 Sgd &S TRl & ded, fauuH veus & fgfaRad ughmal &1 sreqga a1 gl g |
1. Fobel AP ITE 3R AR 31 et H S|

2. 31T 3R faaRor &7 Ufa=y |

Tl IR BT IgT B |

Options :

1. % s ardraRor

2. « 3T ardreaRY

3. % oI BT ARl

4. % TSI dTdERl

Question Number : 267 Question Id : 5038908995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B are partners sharing profits in the ratio of 2:1. Find their sacrifice or gain due to change in profit sharing ratio, if they decide to share
profit equally.

Options :

1. ¥ A's sacrifice 1/6 and B's gain 1/6
2. % A's sacrifice 1/10 and B's gain 1/10
3. % A'ssacrifice 1/3 and B's gain 1/3
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4. #® A's sacrifice 1/12 and B's gain 1/12

Question Number : 267 Question Id : 5038908995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B, 2:1 & SFIUTA H T S aTd WRaR | AfS 3 FHM U J T1H T B BT (07 Ad ¢, 1 arH & SeaR & Sgurd 7 uRkac
& HRUI 3D dfdiH IT ATH J1d DIfore-

Options :

1. ¥ A BTERIEH 1/6 3R B HTTAH 1/6

2. % ABISRIGH 1/10 3R B HTATY 1/10

3. % A BISIGH 1/3 3R B HT Y 1/3

4. % A BTIRIGH 1/12 R B HTAH 1/12

Question Number : 268 Question Id : 5038908996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Purchase of stock in trade and changes in inventories of stock in trade have decreased from 80 percent to 65 percent in a company. Indicate which
from the following reasons does not affect such fall in the business ?

Options :

1. # Efficient functioning of the purchase and production department.

2. ® Increase in the sale price of the product without corresponding increase in the cost of inputs.
3. ¥ Decrease in the cost of goods sold.

4. ® Can't be determined

Question Number : 268 Question Id : 5038908996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR H Wi P W AR AR H Wi Bt Gt # uRac T SOt § 80 UFA=Id F geah 65 Ufa=rd g1 a1 | | £fd & i fgfefea o
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Options :

1. % Y Td TG faUNT DT HRIS Haa

2. % 3ATAI ! ARTd H da1&ul 9fg Tt for Iarg o fash! 4o O gfg |
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Question Number : 269 Question Id : 5038908997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the time duration of conversion of cash into cash equivalents and thereafter back into cash.
Options :
1. ¥ Operating cycle
2. % Tax cycle
3. # Inventory cycle

4. ® Non operating cycle

Question Number : 269 Question Id : 5038908997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Idhcl Bl The TG H FGa 3R I 91 a0y TAhet H saa o 7T 3afy g
Options :
1. ¢ HATd- YAl Ih
2. % PHIdh
3. % difciel I
4. % TR uR=TeH %

Question Number : 270 Question Id : 5038908998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratio of current assets (Rs. 10,00,000) to current liabilities (Rs. 4,00,000) is 2.5:1. The accountant of the firm is interested in maintaining current
ratio of 2:1 by acquiring some current assets On credit. What amount of current assets should be acquired?

Options :

1. # Rs. 3,00,000
2. ¥ Rs. 2,00,000
3. % Rs. 1,00,000
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4. # Rs. 2,50,000

Question Number : 270 Question Id : 5038908998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT URFURIET (10,00,000 ¥UT) BT G SHGIRTT (4,00,000 FUL) F UM 2.5:1 8 | THH B TUTHR $& dTe] THRTE! B IR W 3AfoTd
HRp 2:1 P AT SIUTT P §E TG | Bl QT g | IAHMH T 1 fopd=1 1 4foTd Bt S A1few?

Options :

1. % 3,00,000 39T
2. ¥ 2,00,000 $GY
3. % 1,00,000 904
4. % 250,000 39T

Question Number : 271 Question Id : 5038908999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Working capital = ?

Options :

1. #® Current Assets + Current Liabilities
2. % Current Assets - Current Liabilities
3. # Fixed assets — Current liabilities

4. ¥ Total assets — Current liabilities

Question Number : 271 Question Id : 5038908999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIARMA goit = 2

Options :

1. % T Uil + el Qe

2. ¢ T AU - A1 &I

3. % RR uREufT - 91 Gk
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4, % Hd Ui - AT SR

Question Number : 272 Question Id : 5038909000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to accounting principles, a Current Ratio of is supposed to be an ideal one.
Options :

1. ¥ 2:1

2. % 12

3. % 4:1

4. % 1:4

Question Number : 272 Question Id : 5038909000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i Rigidl & aR, &1 AT ST TG JHT STaT 8 |
Options :

1.9 2:1

2. % 1:2

3. % 4:1

4. % 1:4

Question Number : 273 Question Id : 5038909001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to companies Act,2013, a private company must have an authorized capital of-
Options :

1. ¥ Rs. 1 lakh

2. ® Rs. 5 lakhs

3. % Rs. 10 lakhs

4. ® Rs. 15 lakhs
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Question Number : 273 Question Id : 5038909001 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST AT, 2013 & IR, T Aol HU o6 U b Yol gIH1 =Ifgul
Options :

1.¥% 19

2. % 3. 5079

3. % %, 10 g

4. %% 159G

Question Number : 274 Question Id : 5038909002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following items is not exempted from GST?
Options :

1. ¥ Pharmaceutical items

2. ® Electricity and water

3. ® Consultancy by doctors

4. ® Payment of salaries

Question Number : 274 Question Id : 5038909002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofiRed # 9 o1 d a%g Siiead! ¥ ge-UTd el o7

Options :

1. ¥ BIEYfehd Ha/ KT
2. % foorelt 3R Uit

3. % Blgex] gRI RAR!

4. % a1 Y

Question Number : 275 Question Id : 5038909003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

What does SEBI stands for—

Options :

1. # Selling and Expenses Board of India

2. ¥ Securities and Exchange Board of India
3. % Selling and Exchange Board of India

4. ® Securities and Expenses Board of India

Question Number : 275 Question Id : 5038909003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eft o1 T 31 B-

Options :

1. % YR foep) 3R oo A1 (el U voquay &1 31 sfsan)

2. ¢ YR gfayfa SR fafmg 91 RS ts TR ats 3t gfsan)
3. % YR AfehT U Toaas as (i TS Taasl die 3 sfsan)

4. % YRR Ufayfd 3R o0 ais (RIS TS aqudd als it siodn)

Question Number : 276 Question Id : 5038909004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Indian Partnership act 1932, the rate of interest on capital to the partners is —

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 6 percent

2. 5.5 percent

3. 5 percent

4. 8 percent
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Question Number : 276 Question Id : 538909004 Question Type : MCQ Option Shuffling : Yes

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YRATT UFTERY R 1932 & SIUR ARIEGR! &1 Yot UR TS &1 &2 &1 6-
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 6 UfcrRrd

2. 5.5 Ufd=rd

3. 5 gfcr=rd

4. 8 gfcr=rd

Question Number : 277 Question Id : 5038909005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Debenture Holders are only of the company.
Options :

1. ¢ Creditors

2. % Directors

3. # Share holders

4. % Customers

Question Number : 277 Question Id : 5038909005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U YR b &b baa Gok
Options :

1. ¥ IGR

2. % fqTd
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3. % 3 YRD
4% JEh

Question Number : 278 Question Id : 5038909006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Liquidity Ratio=?

Options :

1. # Liquid Assets/Total Liabilities

2. ¥ Liquid Assets/Current Liabilities

3. % Liquid Assets/Non - Current Assets
4. ® Liquid Assets/Contingent Liabilities

Question Number : 278 Question Id : 5038909006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT AU = ?

Options :

1. % R JURY/FA <gqdrd

2. ¢ TRd Jufy/arg Suan

3. % TR JuflAR-Ire dufat

4. % A HUT/ SR Gy

Question Number : 279 Question Id : 5038909007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Perpetual succession is the silent feature of:
Options :

1. # Partnership firm

2. % Co-operative society

3. % Joint stock company
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4. # Joint Hindu family

Question Number : 279 Question Id : 5038909007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qdd SRR 64 &1 g7 faRiwdr gt g2
Options :

1. % e wH

2. % YgpRI FiAfd

3.« U] Kb Dyl

4. % Tgo fgg URAR

Question Number : 280 Question Id : 5038909008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The structure in which there is separation of ownership and management is called —
Options :

1. # Sole proprietorship

2. % Partnership

3. ¥ Company

4. # Co-operative Society

Question Number : 280 Question Id : 5038909008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 281 Question Id : 5038909009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to NFC, 2015, the role of commerce teacher has to be.
Options :
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1. ¥ Authoritative
o Gniding

3. ¥ Permissive
4. ¥ Dictatorial

Question Number : 281 Question Id : 5038909009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. ¥ HRiGRI®

3. % g

4. % TG

Question Number : 282 Question Id : 5038909010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are qualities of commerce teacher?
1. Sound knowledge of a subject matter
2. Professionaly trained

Options :

1. % 1 only

2. % 2 only

3. % Both 1 and 2
4. ® Neither 1 not 2

Question Number : 282 Question Id : 5038909010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 283 Question Id : 5038909011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The best method of teaching to the commerce students for their complete growth and development.
Options :

1. #® Analytical method

2. % Comparative method

3. # Developmental method

4. ¥ Both Analytical and comparative method

Question Number : 283 Question Id : 5038909011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 284 Question Id : 5038909012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Commerce is a term that embraces all those functions involved in making, buying , selling and transport of goods and services.” Who defined
this ?
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Options :

2. % Dr. Evelyn Thomas
3. # F.W. Taylor
4. ®* Hennery Fayol

Question Number : 284 Question Id : 5038909012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 285 Question Id : 5038909013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Curriculum includes —

Options :

1. ¥ Academic subjects only

2. % Set of content only

3. ¥ Curricular and extra — curricular activities

4. ® Tt excludes an experience a learner received in school

Question Number : 285 Question Id : 5038909013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 286 Question Id : 5038909014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not the main purpose of teaching Accounting is

Options :

1. #® To make the students understand the process of book- keeping and account with accuracy , neatness etc.
2. % To help the students to prepare and interpret simple financial statements and reports.

3. # It aids to students the posting of business transactions.

4. ¥ It aims to prepare students for engineering.

Question Number : 286 Question Id : 5038909014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 287 Question Id : 5038909015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Correlation of Commerce and Accountancy is not with subject.
Options :
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1. ¥ Economics
o Hiq‘rnry

3. # Geography
4. ¥ Mathematics

Question Number : 287 Question Id : 5038909015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 288 Question Id : 5038909016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a problem faced by commerce teachers?
Options :

1. ¥ low student high teacher ratio

2. # ill equipped teachers

3. # lack of practical exposure

4. % inadequate teaching aids

Question Number : 288 Question Id : 5038909016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 289 Question Id : 5038909017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is known as mother of commerce.

Options :

1. ¥ Economics
2. % Mathematics
3. # Geography
4. ® Sociology

Question Number : 289 Question Id : 5038909017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 290 Question Id : 5038909018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ service education ‘ is important for a commerce teacher. State which statement is not relevant.
Options :

1. # Education is a life long process.

2. # Itis a continuous training.
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3. ¥ To bring debility in teaching.

4_# TTpgrn{hﬁnn of know ]Pdge inthe te ching Subjects‘

Question Number : 290 Question Id : 5038909018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 291 Question Id : 5038909019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State which statement is not match with the quality of good commerce teacher ?
Options :

1. # He must have a thorough knowledge of commerce and accountancy.

2. # To become a successful commerce teacher professional training is required.
3. ¥ Physical appearance of the teacher does not matter to be a good teacher.

4. % The teacher must do the right thing at the right time under the most trying circumstances.

Question Number : 291 Question Id : 5038909019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 292 Question Id : 5038909020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The duration of micro — teaching is:
Options :

1. % 5-10 minutes

2. % 10-15 minutes

3. # 20-25 minutes

4. % 30 minutes

Question Number : 292 Question Id : 5038909020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 5-10 T

2. % 10-15 foFe

3. % 20-25 fiFe

4. % 30 fo1e

Question Number : 293 Question Id : 5038909021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Values of the study of commerce may be divided into the following categories:
1. Social Value

2. Cultural value

3. Moral value

Choose the correct option

Options :

1. % 1 only
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2. % 2and 3 only
3_# 3 onlvy

4. % 1,2 and 3

Question Number : 293 Question Id : 5038909021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 294 Question Id : 5038909022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year secondary education commission formed?
Options :

1. ¥ 1952

2. % 1961

3. % 1972

4. % 1981

Question Number : 294 Question Id : 5038909022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
L ¥ 1952

2. % 1961
3. % 1972
4. % 1981

Question Number : 295 Question Id : 5038909023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an assembled group of 10 to 25 persons who share a common interest or problem.

Options :

1. ¥ Work shop
2. % Seminar

3. % Symposium

4. % Panel discussion

Question Number : 295 Question Id : 5038909023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % ST
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Question Number : 296 Question Id : 5038909024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is from the given below not the limitation of linear programming?
Options :

1. #® Subject matter is broken into very small pieces.
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. % Learning process is very low.

adiota Lol doaa Py
.« T 1nnrnvuiaty Nivvy 1\/\15\/ UL 1TVOUILS.

2
2 e Yoo o] lad £ oncalic
~J
4

. % Responding is quite mechanical and restrictive.

Question Number : 296 Question Id : 5038909024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 297 Question Id : 5038909025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which equipment is not the part of smart class — room?
Options :

1. ¥ Computer or laptop.

2. ¥ Board and chalk.

3. # Projector.

4. ® Document camera

Question Number : 297 Question Id : 5038909025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 298 Question Id : 5038909026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an irrelevant behaviour of commerce teacher?
Options :

1. #® Covering essential points

2. # Using explaning links

3. # Testing Pupil's understanding

4. ¥ Using inappropriate phrases

Question Number : 298 Question Id : 5038909026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 299 Question Id : 5038909027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The commerce teacher must form one which should contain book on commercial topics, trade periodicals and government
periodicals.

Options :
1. ¥ Commerce library
2. ® Commerce club

3. % Commerce lab
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4. ¥ Commerce class room

Question Number : 299 Question Id : 5038909027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 300 Question Id : 5038909028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

School bank is very useful activities in the school because —
Options :

1. # It gives loan to the student.

2. ¥ It provides practical idea in banking subject.

3. # The school can take money at the time of need.

4. % Tt increase the investment in the nation.

Question Number : 300 Question Id : 5038909028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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